UGC NET 2021 Persian

Topic:- GP_20NOV_A_SH1

1) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | [Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

aiferept 3 CU 31U 3fipsi B MR UR Yol & Ik SifSre @

forgatifepa aifermt ©: fafdeor aaIidencril (A - F) 3 cswl ol Jizean sii feenii of gicreradr - faravr o1 faazur yeqa oxdl 3 il ssifdencril
3 RBreirs: e feenfRRil & Jizeen 12000 3

JIfdercrr - ar faenffen o faazor

srefrecrr | [RrenfRi &t gRrerdar (% sl &t zizear
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the total sum of the number of girls in College-C, boys in College-D and girls in college-E together?

JislfdencrI - C 3 crsfipel &I, #sifdenert - D 3 crsol & 3iiz dsifdencr - E 3 asfipl &l i o1 @t AP oI & ?

[Question ID = 3576][Question Description = S2_qSNz_PG_GP2_Q01]
1. 3400

[Option ID = 14301]
2. 3800

[Option ID = 14302]
3. 3200

[Option ID = 14303]
4. 3600

[Option ID = 14304]
Correct Answer :-
e 3400

[Option ID = 14301]

2) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.



College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

diferept 33U o1 siiavst @ 3MER U= ggsil @ 3ar S :

fogatifdpa anferet o: fafoor sraifdencrIl (A - F) 3 arsol &l iz sk fenffRi B yfereraar - fardvr o faazor grga ol 3 it seifdencril
3 Rrcrrep: ot frenfRil &1 Jizsen 12000 3

HBIAECcRI - arR faentRi o1 fazor

sreREcrT | [RenfRil 6 gRreraar (% )asal & sz
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

What is the respective ratio of the number of boys in College-C, the number of girls in College-B and the total number of
students in College-E?

Faifeenert - C 3 crsdl &t =, ssifdencrr - B 3 asfiseil &l iz siir ssifdencrr - E 3 aqer fRenfRil &1 v o1 gaer: sopurd = 3 ?

[Question ID = 3577][Question Description = S2_qSNz_PG_GP2_Q02]

1. 45:7:97

[Option ID = 14305]
2. 43:9:97

[Option ID = 14306]
3. 45:7:87

[Option ID = 14307]
4. 43:9:87

[Option ID = 14308]
Correct Answer :-
o 45:7:97

[Option ID = 14305]

3) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

(o 26% 1800

D 18% 1200

E 29% 2400

F 6% 200




arferest 32U s1U sicbst @ MMenR Uz Yol @ Jaz SifSie ©

forotifepa aifert ©: faftcor Faifdencril (A - F) 3 sl &I iz ik RenfRil &t gferoradr - ffravr o1 faeur grqa ol 3 il Feifdencri
3 Rreirp: o fenfRil & sizeen 12000 3

Jifdercrr - ar fdenfefen o1 fadazer

srfErcrT | [RenfRil &t gRrerar (% )arsoi &t zizear
A 12% 1000
B 9% 800
C 26% 1800
D 18% 1200
E 29% 2400
F 6% 200

What is the difference between the number of boys in College-E and the total number of students in College-F?
FaIideEncrI - E 3 crsol &I e $iik dAsifdener - F 3 @ faenfRil o iz o & o= sicd? 3 ?

[Question ID = 3578][Question Description = S2_qSNz_PG_GP2_Q03]

1. 1640

[Option ID = 14309]
2. 1760

[Option ID = 14310]
3. 1720

[Option ID = 14311]
4. 1680

[Option ID = 14312]
Correct Answer :-
e 1640

[Option ID = 14309]

4) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

aiferent 3 fCU 31U sfidpsi @ MR UR Yol @& IR SIfSre @

forgatifepa aifert ©: fafdeor ssifdencril (A - F) 3 cswl ol Jizen sii feenfii o1 gicreraar - faravr o1 faazur yeqa oxdl 3 il ssifdencril
3 RBrers: o feenfRil & sizeen 12000 3

Jifdercrr - ar faenffen o faazer

srsfrErcrT | [RrenfRi &t gRreraar (% sl &t zizear
A 12% 1000
B 9% 800
C 26% 1800
D 18% 1200




FraIfEeRI 11%mﬁkﬁdﬂqﬁ[9mm(%)% | &6t dizen

E 29% 2400

F 6% 200

In which of the following colleges is the total number of students equal to the number of girls in College-E?
forgotifcpa fip1 sraIfdencrr 3 farenf2il o aer 2w, HAsIfener - E &l sl & e & $Rer & ?

[Question ID = 3579][Question Description = S2_qSNz_PG_GP2_Q04]
1. A

[Option ID = 14313]
2. B

[Option ID = 14314]
3. C

[Option ID = 14315]
4. D

[Option ID = 14316]
Correct Answer :-
o A

[Option ID = 14313]

5) Read the given passage and answer the questions that follow

The following table presents the details about the percentage (%) distribution of students and the number of boys in six
different colleges (A-F). There is a total of 12000 students in all the six colleges together. Based on the data in the table,
answer the questions.

College-wise Distribution of Students

College | |Percentage (%) of students |Number of Boys
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

aiferent 3 fCU 31U sficpsi B MR UR Yol @& Ik SIfSre @

forgatifepa aifert ©: fafdeor saifdencril (A - F) 3 cswl ol iz sii feenii of gicreraar - faravr o1 faazur yeqa oxdl 3 il ssifdencril
3 et o feenfRRil & Jizeen 12000 3

Jifdercrr - ar faenf3fen or faazor

srefrEcrT | [RrenfRi Bt gRreraar (% sl &t zizear
A 12% 1000

B 9% 800

C 26% 1800

D 18% 1200

E 29% 2400

F 6% 200

The number of girls in College-A is approximately what percentage of the total number of students in College-B?
JBIfdeEncrI - A 3 asfipdl &t iR, HsIfdencrt - B 3 fenfPRil &t qer i3 @1 cpnel fdbden yfera 3 ?

[Question ID = 3580][Question Description = S2_qSNz_PG_GP2_Q05]
1. 50

[Option ID = 14317]
2. 35



[Option ID = 14318]
3. 45

[Option ID = 14319]
4. 40

[Option ID = 14320]

Correct Answer :-
e 50

[Option ID = 14317]

Topic:- GP_20NOV_B_SH1

1) Which parenting style is the one in which parents seem cool and controlling their interactions with their children (low
warmth, high control):

forgatferRaa 3 A ag ot Ml Ugo (Weer) el 3 PR aArar - far srael sl o At vt sia:fegmm 3 g - 9fe?1 3R foriqe yeiia aka 3 : (forer
spfsiiol, Sca foriqun)

[Question ID = 3581][Question Description = S2_qSNz_PG_GP2_Q06]

Authoritative parents/qiférmif¥e amar - faar [Option ID = 14321]

Authoritarian parents/anféaif¥a airar - fdar [Option ID = 14322]

Permissive parents/sigpsimue auer - fiar [Option ID = 14323]

Rejecting/Neglecting/Uninvolved parents/srzdiare dzor arct / 30eir aot arct / siasiffara of dlor aret i - fiar [Option ID = 14324]

A wWw N =

Correct Answer :-

e Authoritative parents/yiférifsa amar - fiar [Option ID = 14321]

2) Which of the following assessment methods provides feedback, that is non-evaluative, occurs before or during instruction,
and guides teachers in planning and improving instruction?

forrotfeiRaa fop=1 Fcaidver Ul 3 Bisda Ygarel fop=r STl 8, Sl 31 - Jcibol URD Il 3, 31oIG9rel 3 Ud AT 3D SiRIel afed il 3 3iR 3Ieg9ret
JAdiell AISIel Jollol 3R 333 LR <ol 3 IHEATUD] DT APIGIT Dl 3 :

[Question ID = 3582][Question Description = S2_qSNz_PG_GP2_Q07]

Summative/=Memeaa [Option ID = 14325]
Criterion-referenced/zisfdfa @=iict [Option ID = 14326]
Formative/fomifonearas [Option ID = 14327]

Norm referenced/zicféfa srera [Option ID = 14328]

AW N =

Correct Answer :-
e Summative/=emeaa [Option ID = 14325]

3) Given below are two statements
Statement I: Parents and teachers have a highly significant impact on the maturation aspect of cognitive development

Statement ll: Schemes are an organised system of actions or thought that allow us to mentally represent or “think about" the
objects and events in our world

In light of the above statements, choose the correct answer from the options given below

il <Y et Ru o 3 :
Dol - | : Fsiolica® PR @ uf¥udde uscl UR Al - fidr 3iiR 318l o1 gga & Aswagul gua usdr 3

Derel - || : Aot RpRmsil = ARt & Hsifda saazems gkl 3 St a9 sl gform &t azqail 3fiz aceIsii @I aeilRe Fu A yfafefira ol a1

JURITD DGl D 3AIelD 3, oifd U s1u forpeal 3 A A8 IR BT wrRI6T HIfSe :
[Question ID = 3583][Question Description = S2_qSNz_PG_GP2_Q08]

1. Both Statement | and Statement Il are true/erer | siiz 1l Gleil 2= 8 [Option ID = 14329]

2. Both Statement | and Statement Il are false/aerwr | 3iiz |1 Gloil sricr & [Option ID = 14330]

3. Statement | is true but Statement Il is false/wmermwet | 3 8 , fbog werat |1 srir & [Option ID = 14331]
4. Statement | is false but Statement Il is true/erel | sRic 8, fiboq @ert || A= 8 [Option ID = 14332]

Correct Answer :-
e Both Statement | and Statement Il are true/erer | 3iiz |l Sleif a1 & [Option ID = 14329]

4) ldentify the types of cognitive load that make demands during learning
A. Intrinsic

B. Gestalt



C. Extraneous
D. Extinction
E. Germane

Choose the correct answer from the options given below:

I ASGIHD MR D YpRI bl Usdrel B2 SiI PR B R HidT 3 3 -

A. s

B. sréfcc

C. s

D. freia

E. Jea

ol few s1u fraseul 3 A 8 ITR D1 TR HIfTe :

[Question ID = 3584][Question Description = S2_qSNz_PG_GP2_Q09]

A, B and C only/d@act A, B siiz C [Option ID = 14333]
B, C and D only/a@act B, C 3iiz D [Option ID = 14334]
A, C and E only/@ac A, C siiz E [Option ID = 14335]
C, D and E only/aaer C, D siiz E [Option ID = 14336]

AW N =

Correct Answer :-
e A, B and C only/dact A, B 3iiz C [Option ID = 14333]

5) Match List | with List Il

List | List Il
Erik's stages of Psychosocial Approximate
Development Age
IA. Basic trust versus Basic mistrust I Young
adulthood
Il. Late
B. Initiative versus Guilt
adulthood
C. Intimacy versus Isolation Ill. 3 to 6 years

IV. Birth to 12-

D. Ego integrity versus Despair
go Integrity versu pai 18 months

Choose the correct answer from the options given below:

It -1 @1 I -1l 2 afera difste ¢

Rxet -1 et -1l

(el & FehIPNE PRI d a?ur) (Afoorpe 3IRY )

A. difere ferart sona Aifere sifereart |. gd aeroa

B. usct solid iy Il. ar6 &I aFmdar

C. 3R3IAT SolH UPDRDbIDUT Il. 3 31 6 ad

D. 3163 AcATNTOT Follal $SIIIIT IV. Sloat @ 12 - 18 #dlor

il fu aru fseal 3 A A IR gforw ©

[Question ID = 3585][Question Description = S2_qSNz_PG_GP2_Q10]
1. A-lv,B-Ul,C-l,D-U

[Option ID = 14337]
2. A-WL, B-L, C-ll, DV

[Option ID = 14338]
3. A-L,B-ll,C-lv, D -l

[Option ID = 14339]
4. A-ll,B-lv,C-ll, D-l

[Option ID = 14340]

Correct Answer :-



e A-lV,B-Ull,C-l,D-U
[Option ID = 14337]

6) When we design the experiment in such a way that the variations caused by extraneous factors can all be combined under
the general concept of "chance”, it represents which principle?

SId &1 bt udterur (vazrifdic) o1 foEIvr 531 YR o & 6 T BRI GRI 3cusd fafieorarsii (df¥wgizi) oI FRNeT (ai=1) &t ARIeA sraenon
@ 3iceld RIS e st Amdar 3, dl =1s v Rigia o1 foreuvt @war 3 ?

[Question ID = 3586][Question Description = S2_qSNz_PG_GP2_Q11]

Principle of randomization/=mefeebiazur o1 Brgia (fifuet sifw Issarseet) [Option ID = 14341]

Principle of replication/germafer @1 Rigia (iRt sifw efidorer) [Option ID = 14342]

Principle of local control/zemsfr foridqur @1 Brgia (fifmuer sifw cliaser wqler) [Option ID = 14343]

Principle of operational control/zifdgmcds foriqur @t Brgia (fYRuer sifw sifuderer wdler) [Option ID = 14344]

AW N =

Correct Answer :-
e Principle of randomization/=mefesdbia2ur @1 Rigia (f4Ruer siiw Josanssioer) [Option ID = 14341]

7) Positivism as an epistemological program is characteristic of
sireridR PrRigH & U A Yeagiars padl fadwar 3 ?

[Question ID = 3587][Question Description = S2_qSNz_PG_GP2_Q12]
Social sciences/zmenfSib fasior [Option 1D = 14345]

Performing Arts/ygefer aetRi [Option ID = 14346]

Natural sciences/qpfere faster [Option ID = 14347]

Legal studies/fafére sieerior [Option 1D = 14348]

AW N =

Correct Answer :-
e Social sciences/mnfSip fasier [Option ID = 14345]

8) Identify the CORRECT sequence of empirical steps in the linear model of the research process

ofter yfepzn & Iae yfertrer i siepnfae aRull & 8l siglau &l usare Hifie ¢

[Question ID = 3588][Question Description = S2_qSNz_PG_GP2_Q13]

1. Sampling — theory — interpretation — collection — validation — hypotheses/yfercrior — Bigia — forddaet — 2dsggur — yamwflasur — yraaeuon [Option ID =
14349]

2. Theory — hypotheses — sampling — collection — interpretation — validation/Rigia — yrawcust — yferarrol — g1 — fordaer — yamflaszur [Option ID =
14350]

3. Validation — theory — hypotheses — collection — sampling — interpretation/ygmfta2ur — Bigid — yradeust — Jsjgur — yferarrel — fordaost [Option ID =
14351]

4. Collection — sampling — hypotheses — theory — interpretation — operationalization/3isEur — yferarrol — yrameust — Brgid — fordaer — fdpricardbiassor
(smueretersoioier) [Option ID = 14352]

Correct Answer :-

e Sampling — theory — interpretation — collection — validation — hypotheses/yferrror — Bigia — fordaer — sfgur — yaviiasr — grawmeyen [Option D =
14349]

9) Which of the below mentioned approaches fall under the Quantitative Approach?
A. Simulation approach

B. Projective technique

C. Inferential approach

D. Depth interview

E. Experimental approach

Choose the correct answer from the options given below:

forgotfcifRaa 3 A dlat A 3if¥ERT AGICAD JBPEE o sidsia 3 ?

A. 3gI@201 AP (ATSHACIGT TYI)

B. yaidi apolias (qioifrea 2aoiias)

C. oD JMPE (FoBIIRICT Tgi)

D. s1sat gD R

E. griifdte sifdener

il 3 a1w faseal 3 A A& IR @1 WRI6T HIfTT ¢

[Question ID = 3589][Question Description = S2_qSNz_PG_GP2_Q14]



. A, Cand E only/aae A, C siiz E [Option ID = 14353]
. B, Cand E only/d@>ae B, C siiz E [Option ID = 14354]
. B, Cand D only/@qaa B, C siiz D [Option ID = 14355]
. A, Band C only/aae A, B siiz C [Option ID = 14356]

A wWN =

Correct Answer :-
e A, CandE only/dac A, C 3iiz E [Option ID = 14353]

10) Match List | with List Il

List | List Il

IA. Ex post facto I. Finding a solution for an immediate problem facing a society or an industrial/business
Research organisation

B. Applied Research Il. Related to some abstract idea(s) or theory

C. Conceptual Research |lll. Development of hypotheses rather than their testing

D. Exploratory Research |IV. No control over variables, reports only what has happened or what is happening

Choose the correct answer from the options given below:

et -1 B 3l -1l A AR HiR :

et -1 et -1l

A. orifaz ||, oot JensT sterar sienf3res / cmaaRis Feros @ AT

ofter Suf¥erd drcIferas AHRAT DI AAIETGT GGoll

:ﬁ;@m I1. Roxft argef Rrar (Rram) srerar Brgia 3 ww€f

C.

RigerIcas® ||, adiegrr @ Feare UR yradcuel ol faart

oTer

D. eeadl |V, @Rl ur @ foriqur oél, dad 32t &I Sierert Sar 3 it 3l gy
orler B sterdn 3l 3T 3

il 3 a1w faseal 3 A A IR gfore ©
[Question ID = 3590][Question Description = S2_qSNz_PG_GP2_Q15]

. A-lV,B-L, C-lL, D -l [Option ID = 14357]

. A-lll, B-Il, C-I, D-IV [Option ID = 14358]
. A-IV,B-I, C-Il, D -lll [Option ID = 14359]
. A-l, B-lll, C-Il, D-IV [Option ID = 14360]

A WN =

Correct Answer :-
e A-lV,B-l, C-l, D -l [Option ID = 14357]

11) Peer-to-peer communication is
TAADE A JHADET BT AFYUUT 3 &

[Question ID = 3591][Question Description = S2_qSNz_PG_GP2_Q16]
1. Horizontal/ éiferst

[Option ID = 14361]
2. Convoluted/afera

[Option ID = 14362]
3. Non-transactional/3i2 - Jicerasif¥am

[Option ID = 14363]
4. Authoritarian/siférrardt

[Option ID = 14364]

Correct Answer :-
e Horizontal/ 8iftrst

[Option ID = 14361]

12) The main challenges of grapevine communication are:
A. Its formal nature

B. Distortion

C. Misunderstanding

D. Source anonymity

E. Conformity

Choose the correct answer from the options given below:



SIoIYdIG AFYEVI DBl Pt oiiferai & ?

A. sl siiuanfye ygfer

B. farsuur

C. srerawssit

D. Ja smemaca

E. sropzeuer

oiid feu s1u forpeul 3 21 A8 IR BT 61 HIfSe :

[Question ID = 3592][Question Description = S2_qSNz_PG_GP2_Q17]

. A, B and C only/daer A, B aie C [Option ID = 14365]
. B, C and D only/daer B, C aiiz D [Option ID = 14366]
. C, D and E only/daer C, D sz E [Option ID = 14367]
. A, Cand D only/dae A, C aiiz D [Option ID = 14368]

N W N =

Correct Answer :-
e A, Band C only/dqct A, B siiz C [Option ID = 14365]

13) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Students do not form part of the media audience
Reason R: Due to the all-pervasive digital technology, students have become interactive media users

In light of the above statements, choose the correct answer from the options given below

ofid 3 e fdu se 3 1w sifdrperet (Assertion A) @ U 3 3ii? gRI 331D dRUT (Reason R) @ »u 4 :
sifdrperet (A) : feneff, i3 - offar & et o8l 3

@Rl (R) : ad - =nmue RBfca gzt & waramu faenell soa: fpmofiear sifSar yrierwat ot s1e 3
SWRITh BUcll D sirelied 3, i fRu el 3 A 1l IR &I avIer HiIfvru :

[Question ID = 3593][Question Description = S2_qSNz_PG_GP2_Q18]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) cleil 311 3312 (R), (A) &t 3 =m=n & [Option ID = 14369]

2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) 31 3t & woq (R), (A) & 3@ ware=n o8l & [Option ID = 14370]
3. Ais true but R is false/(A) 3= &, afepar (R) srir & [Option ID = 14371]

4. Ais false but R is true/(A) swie 8, cifdpat (R) =1 8 [Option ID = 14372]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) @il 311 & 3iiz (R), (A) &t 3d =men & [Option ID = 14369]

14) Identify the CORRECT sequence of the following communication forms:
A. Mass

B. Public

C. Group

D. Inter-personal

E. Intra-personal

Choose the correct answer from the options given below

forsotifépa JAFYUUT - Fasul & A8 gapd bl usars HifSe :

A. Siol - A3

B. Storar

C. a3

D. 3R - Guftpd

E. soa: - Juftpem

offal fu 1w frpedl 3 A &Y IR @1 RIe Hifstu :

[Question ID = 3594][Question Description = S2_qSNz_PG_GP2_Q19]

1. A, D, E, B, C [Option ID = 14373]
2. D, E, B, C, A[Option ID = 14374]
3. E, D, C, B, A[Option ID = 14375]
4. B, C, A, D, E [Option ID = 14376]

Correct Answer :-



e A, D, E, B, C[Option ID = 14373]

15) Match List | with List Il

List | List Il

Types of noise in communication/Characteristic feature

IA. Physical I. Barriers within the sender or receiver
B. Physiological Il. Wandering thoughts

C. Psychological Ill. Use of jargon

D. Semantic IV. Mechanical distortion

Choose the correct answer from the options given below:

eht -1 @t I -1l A Fgafera difsre :

Rt -1 et -1l

(1e9uuT 3 9IR D YBR) (sif3rcmigifdTes fadiaan)

A. omsdife |. QuIep 1 3JeuIcbdl @ HERA RIET
B. oz fepamcaid 1. speroroficr =

C. eilfdsiiorm Ill. fafdrse - orecracit w1 gieT

D. orecrelfarsiror IV. @foqe fasuor

il fu o1u fseal 3 A A IR gforw ¢
[Question ID = 3595][Question Description = S2_qSNz_PG_GP2_Q20]

A-IV, B -1, C -II, D -1l [Option ID = 14377]
A -1, B -Il, C -lll, D -IV [Option ID = 14378]
A-Ill, B -1V, C -1, D -1l [Option ID = 14379]
A-Il, B -Ill, C -1V, D -1 [Option ID = 14380]

AW N =

Correct Answer :-
e A-1V,B-I, C-Il, D -lll [Option ID = 14377]

16) The incomes of Ravi and Kavita are in the ratio 2:3 and their expenditures are in the ratio 3:5. If each saves ¥ 100, then
Ravi's income is

3 3iIz idar &1 3Rr 2 @ 3 @ 3sropurd 3 3 3iiR Jold> = @t 31U 3 5 3 3PR yd@ X 100 saa o & dl A ol 3 3 ¢

[Question ID = 3596][Question Description = S2_qSNz_PG_GP2_Q21]
1. 200

[Option ID = 14381]
2. X600

[Option ID = 14382]
3. %400

[Option ID = 14383]
4. 100

[Option ID = 14384]
Correct Answer :-
e 3200

[Option ID = 14381]

17) The new cost of a mobile which has been discounted by 15% is ¥ 3230. What was the cost of the mobile originally?
15 yferera &I g @ el Hlarse oI oM e X 3230 3 HAlasea @I YR JeA o= o ?

[Question ID = 3597][Question Description = S2_qSNz_PG_GP2_Q22]
1. 3675

[Option ID = 14385]
2. 3650

[Option ID = 14386]
3. %3600

[Option ID = 14387]
4. %3800

[Option ID = 14388]
Correct Answer :-
o 33675

[Option ID = 14385]

18) The product of two positive consecutive odd integers is 1 less than six times their sum. One of the integers is

Sl HOIcH® BAPIA AR QuIfcs BT IUTeIbel, JoId APThel @ 6 - 3N A 1 A 3 Sloll A A v guifa 3 ©



[Question ID = 3598][Question Description = S2_qSNz_PG_GP2_Q23]
1.7

[Option ID = 14389]
2.9

[Option ID = 14390]
3. 15

[Option ID = 14391]
4. 13

[Option ID = 14392]
Correct Answer :-
° 7

[Option ID = 14389]

19) Given below are two statements
Statement I: A number that has factors other than 1 and itself is called a composite number
Statement Il: 23 is the only odd prime number

In light of the above statements, choose the correct answer from the options given below

ofi<r <t et Ruame 3 ¢

Dol - | : v I, BRIt 1 31k geizn =i & saade ld 3, v AifPie T AT AP AT Bl el 3
werel - || : dacr 23 & v faua w6 dAw=n 3

SWRITP DUl D 3Mrell® 3, il e a1e Rraseul 3 A A8l IaR @I et HifSte

[Question ID = 3599][Question Description = S2_qSNz_PG_GP2_Q24]
1. Both Statement | and Statement Il are true/erer | iz 1l Sleil e 3

[Option ID = 14393]
2. Both Statement | and Statement Il are false/aerer | 3 |1 Qlall 3RIcT 3

[Option ID = 14394]
3. Statement | is true but Statement Il is false/erwer | 31 8, cifdbor weror || 3rRIeT 2

[Option ID = 14395]
4. Statement | is false but Statement Il is true/ermer | sRIcT 8, cifdber werer || 3T 3

[Option ID = 14396]
Correct Answer :-
e Both Statement | and Statement Il are true/weror | 3iiz || Gloll Jicer &

[Option ID = 14393]

20) Match List | with List Il

List | List Il

Three numbers [Their average
A. 40, 32, 33 |I. 38

B. 35, 36, 40 [ll. 36

C. 33, 36,39 |lll. 35

D. 30, 38, 46 |[IV. 37
Choose the correct answer from the options given below:

et -1 Bt gt -1l A AR FIfe :

Rt -1 Rzt -1l

(cfiot JizIE) (IJotepT 3ieTa (IiT=))
A. 40, 32, 33 1. 38

B. 35, 36, 40 Il. 36

C. 33, 36, 39 Il. 35

D. 30, 38, 46 Iv. 37

ol feu a1g farseul & A & a2 gfere :

[Question ID = 3600][Question Description = S2_qSNz_PG_GP2_Q25]
1. A-IV,B-1,C-Il,D-1I

[Option ID = 14397]
2. A-1I,B-IV,C-1,D-1I

[Option ID = 14398]
3. A-1LB-IV,C-1,D-1



[Option ID = 14399]
4. A-IV,B-1l,C-1II,D-I

[Option ID = 14400]
Correct Answer :-
e A-IV,B-1,C-1Il,D-1I
[Option ID = 14397]

21) Advertising "Testimonials" are frequent instances of this fallacy
"gaoT’ 1 fersiet @on forFoifeiRaa 3 21 o1 I @ wgaI dlol drel 3CI6VT 3 7

[Question ID = 3601][Question Description = S2_qSNz_PG_GP2_Q26]
1. Argumentum ad ignorantiam (ignorance)/smsfdiocat Bs sooidfocam@ (3rsiroldr)

[Option ID = 14401]
2. Argumentum ad Misericordiam (appeal to pity)/smefdioca us RBei¥dIfERior (G oI 3IPE)

[Option ID = 14402]
3. Argumentum ad Populum/sme:fgioedt os ugerst

[Option ID = 14403]
4. Argumentum ad Verecundiam (authority)/sme=fdiocat us Rpfosaa (YfdR)

[Option ID = 14404]

Correct Answer :-
® Argumentum ad ignorantiam (ignorance)/sis=ffiocd US so6iRf6C3E (3ISITolAr)

[Option ID = 14401]

22) If 'some women are writers is true, which of the following codes are CORRECT
A. 'All women are writers' false

B. 'All women are writers' is true

C. 'No women are writers' is false

D. 'Some women are not writers' is undetermined

Choose the correct answer from the options given below:

Afe ' @ Afdee clfade & A 3, dl foweiferRaa 3 1 ®iel A o A8 8 ?
A. ‘=it afdeme al¥aem ¥ srica 3

B. w19t aifden aiRa® ¥ aca

C. ‘@1 afden ARawt ol T sR1ca 3

D. ‘oo afdars alaomn ol § sifererifva 3

oiiI {3 31w ferpeul 3 A & IR DI wRIel HIfE :

[Question ID = 3602][Question Description = S2_qSNz_PG_GP2_Q27]

1. A and B only/d>act A 3iiz B

[Option ID = 14405]
2. Band C only/@ae B siie C

[Option ID = 14406]
3. Cand D only/@ae C 3z D

[Option ID = 14407]
4. B and D only/daet B aiiz D

[Option ID = 14408]

Correct Answer :-
e Aand B only/dact A siiz B

[Option ID = 14405]

23) Which of the following code correctly represents the figure and mood of the argument?
No musicians are Italians

All barbers are Musicians

Therefore, No barbers are Italians

Choose the correct answer from the options given below

forgatferRaa 3 A Plel AT B¢ AP D PR AU YPR DI Al foReuvT par 37



DIE Iefiamr secft @1 ol 3
8ft o Jefiamr T
3ICT: PIS olrE sl o1 o1l 3

[Question ID = 3603][Question Description = S2_qSNz_PG_GP2_Q28]
1. EAE-1/3us- |

[Option ID = 14409]
2. EAE-II/$us- 1l

[Option ID = 14410]
3. EAE-lI/gus- 1l

[Option ID = 14411]
4. EAE-IN/§ug- IV

[Option ID = 14412]
Correct Answer :-
e EAE-I/sus-|
[Option ID = 14409]

24) If a jar is temporarily removed from its locus the non-existence of the jar on the floor is
fe fopdl arcdaret (SIR) @1 e FUA Ul Feurel (clidba) A &l f&an Se d wef Uz Fddaret oI sioif¥dara 3 :
[Question ID = 3604][Question Description = S2_qSNz_PG_GP2_Q29]

1. Upamana (Comparison)/3usiel (qetol) (cbauf¥sior)

[Option ID = 14413]
2. Arthapatti (Implication)/srerfufer (foifdaref) (seecfiddoror)

[Option ID = 14414]
3. Anumana (Inference)/sioret (s5W331)

[Option ID = 14415]
4. Anuplabdhi (Non-cognition)/3reucifder (ool - @fdotoror)

[Option ID = 14416]

Correct Answer :-

e Upamana (Comparison)/3ustel (defoll) (@auf¥stor)
[Option ID = 14413]

25) The knowing self knows objects through the instrumentality of the Indriyas and the existence of the Indriya, is proved by
ST GRI a3l @I sfogal d ATe6T GRI SIIoll ST 3 3R sfogal @I iiara geniora fop=n siar 8

[Question ID = 3605][Question Description = S2_qSNz_PG_GP2_Q30]

1. Arthapatti/srerfufer gt

[Option ID = 14417]
2. Anuplabdhi/smeuetfer grRt

[Option ID = 14418]
3. Anumana/ ool gRI

[Option ID = 14419]
4. Upamana/3udel gRI

[Option ID = 14420]
Correct Answer :-
e Arthapatti/srerfufer grr
[Option ID = 14417]

26) Match List | with List Il

List | List Il
(Activity) (File Type)
IA. Recording a song to play on an iPod l. .zip

B. Saving a video Il. .mp3

C. Sending a photo to someone using your mobile|lll. .mp4
D. Compressing a folder of files |IV. .jpeg

Choose the correct answer from the options given below:

el -1 ot g -1l A Fgafera difsre :

oyt -| et -l
(fogen - @erra) (wrsct & yoR)




A. g 3¢ dis WR sfid aotor & fore i waar l. .55 an$ ot
B. v difSat M3 awwen Il. .oa di 3
C. 3rucl Hiarsel @I YeT B gU fopdl @1 BIeY istoln I, .qar di 4
D. o BrEc D BIcs: Bl DFYA DI IV. .51 di 5 sft

ol feu a0 faseul & A & a2 gfere :

[Question ID = 3606][Question Description = S2_qSNz_PG_GP2_Q31]
1. A-1l,B-Nl,C-1,D-1IV

[Option ID = 14421]
2. A-IV,B-1l,C-11,D-I

[Option ID = 14422]
3. A-1LB-1,C-1V,D-1

[Option ID = 14423]
4. A-1,B-1Il,C-1V,D-I

[Option ID = 14424]
Correct Answer :-
e A-I,B-1I,C-1,D-1IV
[Option ID = 14421]

27) Kavita uses a Wifi adapter to connect the computer to an interactive whiteboard.

Which one of these statements is false?

PIIAI TPh a1 - BIS TSTeR DI YAPI DIRIR Pl TP cilcufepRofic arscdls A slisol d dxdl 3 fordifcoa werel 3 A dlol 3RIcA 3 ?

[Question ID = 3607][Question Description = S2_qSNz_PG_GP2_Q32]
1. Wifi has a greater range than Bluetooth/@rsc @IS @1 3 sc] ¢ 3 SIIGT Bl 3

[Option ID = 14425]
2. Wifi signals are capable of passing through solid objects/ars wr$ @ RBiwotct Si1 ucrelf @ dla 3 oft uR @t 3t el &

[Option ID = 14426]
3. Bluetooth has a greater range than Wifi/scger ot 351 ar$ - wi$ 3 Sarer aiar 3

[Option ID = 14427]
4. Bluetooth signals are capable of passing through solid objects/scy g @ RBisolct 31t ucrelf @ dfa 3 sft ur ot 3 Jaref &

[Option ID = 14428]

Correct Answer :-

e Wifi has a greater range than Bluetooth/zIse dI< @1 351 scf ¢l 3 Sact 8l 8
[Option ID = 14425]

28) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The Internet is very beneficial to students in all aspects

Reason R: The Internet opens doorways to a wealth of information, knowledge and educational resources thereby increasing
opportunities for learning in and beyond the classroom

In light of the above statements, choose the correct answer from the options given below

offd 3I e fSu sre 3 : u sifdrperet (Assertion A) @ U 3 3ii? gRI 33 DRI (Reason R) @ »u 4 :

sifdrperet (A) © geoie feenefiil @ forg il zRemlvr A dga surcT cv®sl 3

®rul (R) : $eole Jaesil, et iz AeIfTe - Al bl YRl oI oR 3gifed bl 3 PSRRI del @ 3ice AT RRI UR ARERI D TGl D AR
grd 3K 3

JWRITP PDeell D el d, offd fGu el 3 3 A8 IR &I ol HiIfSe :

[Question ID = 3608][Question Description = S2_qSNz_PG_GP2_Q33]
1. Both A and R are true and R is the correct explanation of A/(A) sliz (R) glail 31 3 32 (R), (A) 6t 3 e 3

[Option ID = 14429]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) gleil 31 8 wog (R), (A) 6l 3t =Rn o8t 8

[Option ID = 14430]
3. Ais true but R is false/(A) 31 &, cifcpor (R) sricr @

[Option ID = 14431]
4. Ais false but R is true/(A) srica 3, difdpar (R) 31 &

[Option ID = 14432]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) dlail 3 8 3l (R), (A) & 348 R &



[Option ID = 14429]

29) lIdentify the CORRECT order of the following data transfer rates measured in bits per second (bps) ranked from largest to
smallest

A. 1500 kbps
B. 1500 Mbps
C. 1 Mbps
D. 1 Gbps

Choose the correct answer from the options given below

forca yfer s (@t ol w2r) 3 A 31U 3eT - 3[6aRYI - G B &S A VI Ad G Dl usdre b ¢
A. 1500 & & ot v

B. 1500 war &t di vt

C. 1 o &I di w1

D. 1 5ft &t i o1

il 3w a1w faraseal 3 A I IR @1 WRIeT HifTw ¢

[Question ID = 3609][Question Description = S2_qSNz_PG_GP2_Q34]
1. D,B, A, C

[Option ID = 14433]
2. B,D,C, A

[Option ID = 14434]
3. B,A,D,C

[Option ID = 14435]
4. B,D, A C

[Option ID = 14436]
Correct Answer :-
e D,B,AC

[Option ID = 14433]

30) Given below are two statements
Statement I: You can add attachments of any file size to an email.
Statement Il: You can only send emails from a laptop computer.

In light of the above statements, choose the correct answer from the options given below

ofir <t et Ruame 3 ¢

el - | : 3mu ot off BrEar A1sST D) A A 3cadc D PU A SlIs ADA 3
@l - || : 3ma dac ¢y - ¢a dIRIe A 8 s Al ADd 3

IWRITH DGl @ sirelied 3, i fGu faseal 3 A & IR I aRI6r HifSrv :

[Question ID = 3610][Question Description = S2_qSNz_PG_GP2_Q35]
1. Both Statement | and Statement Il are true/erer | iz 1l Sleil e 3

[Option ID = 14437]
2. Both Statement | and Statement Il are false/a@erar | 3z |1 el 3RIcT &

[Option ID = 14438]
3. Statement | is true but Statement Il is false/@erwer | 31 8, cifdpor weror || 3T 2

[Option ID = 14439]
4. Statement | is false but Statement Il is true/ermer | 3RIc 8, cifdber werr || 3T 3

[Option ID = 14440]

Correct Answer :-
e Both Statement | and Statement Il are true/weror | 3iiz || Goll Jicer &

[Option ID = 14437]

31) What are essential for the formation of photochemical smog?
A. Oxides of sulphur

B. Oxides of Nitrogen



C. Volatile Organic Compounds
D. Water Vapour
E. Sunlight

Choose the correct answer from the options given below:

JbI91 - IRIRITID g - DI D dolol B T8 Dol A MAYTD 3 7
A. JcB3 D sifaArss

B. cIEdIsiol @ sifaarss
C. amuefiar wrdfsre Aif3rs

D. Stetarsu

E. 3t - gopror
ofldY fu s1u fameul 3t A A} 3a2 BT TRIeT BRI :

[Question ID = 3611][Question Description = S2_qSNz_PG_GP2_Q36]
1. A, B and C only/@aet A, B siie C

[Option ID = 14441]
2. A, B, CandD only/@act A, B, C iz D

[Option ID = 14442]
3. B, C, D and E only/dsaa B, C, D aiiz E

[Option ID = 14443]
4. B, Cand E only/aaer B, C 3z E

[Option ID = 14444]

Correct Answer :-

e A, Band C only/daa A, B iz C
[Option ID = 14441]

32) What is the CORRECT sequence of occurrence of various atmospheric layers from earth's surface?
A. Thermosphere

B. Stratosphere

C. Mesosphere

D. Troposphere

Choose the correct answer from the options given below

gedl &l s A HuR oot argeisciiRn udl & suf¥-efer o1 A8t ap = 8 ?
A. auavse

B. @amuavsea

C. FeREIvsea

D. ginsmosa

oiiI fu 31w ferpeul 3 A & IR @I wRI6T DI :

[Question ID = 3612][Question Description = S2_qSNz_PG_GP2_Q37]
1. D,B, A, C

[Option ID = 14445]
2. D,B,C, A

[Option ID = 14446]
3. B,D,C, A

[Option ID = 14447]
4. C,B,D, A

[Option ID = 14448]
Correct Answer :-
e D,BAC

[Option ID = 14445]

33) Which one of the following climate change proxies is not the terrestrial biotic climatic proxy?

forsotfeilRaa 9 A Pl Sterary uf¥adet yferadl, arféfa Sia serary gferacd) ot 3 ?



[Question ID = 3613][Question Description = S2_qSNz_PG_GP2_Q38]
1. Boreholes/fig - fosg (dR - 2lc=d)

[Option ID = 14449]
2. Leaf physiology/uq - @ifrbt

[Option ID = 14450]
3. Tree ring/gst - aerx

[Option ID = 14451]
4. Pollen and spore analysis/ueImur vd dismuy frecwor

[Option ID = 14452]

Correct Answer :-

® Boreholes/fig - fisg (a2 - Blca1)
[Option ID = 14449]

34) A high amount of BOD (Biochemical Oxygen Demand) in a water body represents
A. Highly Polluted Water

B. Presence of a large amount of organic materials

C. Presence of good amount dissolved oxygen

D. Severely limited aquatic life

Choose the correct answer from the options given below:

U SICTORI 3 &t 3l 31 (SiaRrRIRIfore - sifaefister - Jfor) & siftres arer yefdfa ol 3 :
A. safere ygfta ster

B. wredforas ugrelf bt serer sirqr ot suferfer

C. faf¥a sifa=fisier & srcedt a1y &1 ufFefer

D. srcafires Af¥a sicfin shtast

offa fu 1w frpeul 3 A &Y IR BI WRIe Hifstu :

[Question ID = 3614][Question Description = S2_qSNz_PG_GP2_Q39]
1. A, B, Cand D only/A, B, C3iiz D

[Option ID = 14453]
2. B, C and D only/daet B, C 3fiz D

[Option ID = 14454]
3. A, Cand D only/@ae A, C sz D

[Option ID = 14455]
4. A, B and D only/@>act A, B sic D

[Option ID = 14456]

Correct Answer :-

e A B,CandDonly/A, B, Csir D
[Option ID = 14453]

35) Which one of the following is a component of a Sewage Treatment Plant (STP)?
forgoticiRaa 3t 21 dlol U HAcTsIcT - forsuvr - Riq (TA & di) @1 vw acw 3?7

[Question ID = 3615][Question Description = S2_qSNz_PG_GP2_Q40]

1. UV source/?, dt. Ja

[Option ID = 14457]
2. lon exchanger/3rel TaRKisR

[Option ID = 14458]
3. Grit chamber/arcieur - Yot

[Option ID = 14459]
4. Cyclone/saciiot

[Option ID = 14460]
Correct Answer :-
® UV source/g, dl. 3fia
[Option ID = 14457]

36) According to the NEP- 2020, a Master's Programme may be of:

A. one-year duration



B. two-year duration
C. three-year duration
D. four-year duration
E. five-year duration

Choose the correct answer from the options given below:

Tol. 5. Ul. - 2020 @ 3R, IANTDIR UIGIGRHA 3l ADdI & ©
A. v ad &l s@fer o1

B. <1 ad & sraf?r @1

C. fior af &t sraf?r o1

D. ar ad &t safer o1

E. ufa ad &t sraf?r o1

ofi R3u o1u faresedl 3 A A& IR BT <RIt HiIfSTE ¢

[Question ID = 3616][Question Description = S2_qSNz_PG_GP2_Q41]
1. A, B and E only/@acr A, B siiz E

[Option ID = 14461]
2. A, Band Conly/@act A, B sz C

[Option ID = 14462]
3. B, Cand E only/@act B, C sz E

[Option ID = 14463]
4. B and D only/a@act B sfiz D

[Option ID = 14464]

Correct Answer :-
e A, BandE only/d@act A, B sz E

[Option ID = 14461]

37) According to NEP-2020, the Higher Education Commission of India (HECI) will be set up:

A. to replace the UGC for maintaining quality and standard in higher education institutions

B. as an umbrella institution to look into regulation accreditation, funding and academic standard
C. as a regulatory authority to maintain quality and standard

D. to maintain academic standard of higher education institutions

Choose the correct answer from the options given below:

wol. 5. Ul. 2020 @ 3M6[AR, HRA DI ITa 1811 IRIPT Fefud o sieer :

A. il @1 ST g AFesii 3 JUIaHI Ud ¥R Jelle 3ol @ fe1e gferzemuot
B. faformeret, grariel, foiferrer SR 91girD = & SxiIeT 3 B ATAT D WU A
C. oo fAformere a1 & U I VAT Ud IR Jolie 3ol D fore

D. 3Ta digifores Azermsil @ gIford Ia2 I dolle 3ol @ fero

oiil fu 1w ferpeul 3 A & IR DI wRIeT HIfsTE :

[Question ID = 3617][Question Description = S2_qSNz_PG_GP2_Q42]
1. A and B only/d>act A 3iiz B

[Option ID = 14465]
2. B, Cand D only/a@aet B, C sfiz D

[Option ID = 14466]
3. A, Cand D only/d>aer A, C 3iiz D

[Option ID = 14467]
4. A, B, CandD/A, B, C die D

[Option ID = 14468]
Correct Answer :-
e Aand B only/dact A sfiz B
[Option ID = 14465]

38) Match List | with List Il




List | List Il

Regulatory institutions as per NEP-2020  |Responsibilities

IA. NHERC |. Academic standards
B. NAC Il. Accreditation

C. HEGC Ill. Regulation

D. GEC IV. Financing

Choose the correct answer from the options given below:

et -1 @t 3 -1l A AR Bifdre :

Rt -1 Rzt -1l

(ot 3. Ul. @ 3R fAforma® Jiverry) (c1Rrea)

IA. Uol.uT.3.3IR.3l |. otgifdres - Faz
B. woru=il. Il. gearror

C. sassitadl 11, faformerer

D. sfis2ft IV. forferrer

il 3 o1w faseal 3 A A IR gfore ©

[Question ID = 3618][Question Description = S2_qSNz_PG_GP2_Q43]
1. A-llLB-1,C-1,D-1IV

[Option ID = 14469]
2. A-1,B-1I,C-1V,D- |

[Option ID = 14470]
3. A-1LB-1,C-1V,D-1

[Option ID = 14471]
4. A-IV,B-1l,C-1II,D-I

[Option ID = 14472]
Correct Answer :-
e A-llLB-1I,C-1,D-1IV
[Option ID = 14469]

39) According to NEP-2020, National Research Foundation (NRF) may be established to
wol.s.Ul. 2020 @ 3MGIAR, ASERI McceNd YferesTol (Tel.3R.uw.) Feft fipwn Sir e 3 :

[Question ID = 3619][Question Description = S2_qSNz_PG_GP2_Q44]
1. Promote doctoral/post-doctoral research/siae3c siik Uie Siacdc oltl & Qieisa 3

[Option ID = 14473]
2. Promote fundamental scientific research/smemred dsuform oller @I Giefdd B0l

[Option ID = 14474]
3. Enable universities to establish research laboratories/fdeafdencril @ olter - yYRilerome3il bt Tl @ Al Follol i

[Option ID = 14475]
4. Enable a culture of research to permeate through universities/fddfcencr J olier Azpier B oA Blol D fe1e 368 AW Folloll

[Option ID = 14476]

Correct Answer :-

e Promote doctoral/post-doctoral research/sfac3c 3iiz uize Siacic 9ier D YieABE0l 3
[Option ID = 14473]

40) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Higher education in India has limited access particularly in socio-economically disadvantaged areas

Reason R: The research and innovation investment in India is only 0.69% of GDP

In light of the above statements, choose the most appropriate answer from the options given below

i<l SI Do fSu s 3 : uw sifdrmeret (Assertion A) @ U 3 3ii? gRI 3D DRI (Reason R) & =u 4 :
sifircerat (A) : sia 3 3ca - Rign & 2Afa uga 3 Rdrad: AR - snfie diia Sigi

@R (R) : sira 3 onter 3R orarar forder Awe = Icurg (SitSll.) o1 daa 0.69% &

JURITS D6l D 3AMel® 3, oifd U frapeul 3 A A8 IR DI o=Iol HifsTe :

[Question ID = 3620][Question Description = S2_qSNz_PG_GP2_Q45]
1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) cleil &t 8 3l (R), (A) &t A =z 8

[Option ID = 14477]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) iz (R) leil 2@l & uoq (R), (A) bt 3 R ofdt &

[Option ID = 14478]
3. Ais correct but R is not correct/(A) 3t 8 uoq (R) &t oidl 8



[Option ID = 14479]
4. Ais not correct but R is correct/(A) 3@t oidl 8 uvsg (R) At 2

[Option ID = 14480]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3z (R) @il 1t & 3liz (R), (A) &l 21 creen 8
[Option ID = 14477]

Topic:- GP_20NOV_C_SH1

1)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle class
women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain by
black and Asian feminists. Such critiques evoked the concepts of ‘inter-locking identities' and inter-locking oppressions’.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were called
for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most women
around the world and attempted to reposition feminist debate within broader social, economic and cultural contexts of
analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the self-assumed
authority of western feminists to speak about or indeed for others was disputed and decentered. Influential accounts of the
tendencies of masculinist imperialist ideological formation to construct a ‘monolithic Third world' woman', discursively
constituted as the universal victim of Third world patriarchy, challenged feminists to “unlearn” their privilege and to
deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside intervention
of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars anxious to move
beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary, they were enduringly
influential in highlighting the questions identity and authority in feminist studies.
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The early feminist theory ignored among women, the issue of

gRi¥ie siklare @ Rigia 3 afdensii @ fosticilRad 3f A [ g DI sioRersT @2 61 s ?

[Question ID = 3621][Question Description = S2_qSNz_PG_GP2_Q46]
1. Enduring commonalities/ i maorans

[Option ID = 14481]
2. Significant differences/ssrayuf fireotart

[Option ID = 14482]
3. Inclusive factors/pmieh wrRo

[Option ID = 14483]
4. Oppressive elements/gaoerdRt dea

[Option ID = 14484]



Correct Answer :-
e Enduring commonalities/ 3 JAwireran

[Option ID = 14481]

2)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle class
women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain by
black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were called
for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most women
around the world and attempted to reposition feminist debate within broader social, economic and cultural contexts of
analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the self-assumed
authority of western feminists to speak about or indeed for others was disputed and decentered. Influential accounts of the
tendencies of masculinist imperialist ideological formation to construct a ‘monolithic Third world' woman', discursively
constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege and to
deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside intervention
of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars anxious to move
beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary, they were enduringly
influential in highlighting the questions identity and authority in feminist studies.
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Initially, the feminist theory veered around the problems of

3 & omdlardt Rigia forgorferRaa 3 A fipar e @ 3¢ B gt a1 o ?

[Question ID = 3622][Question Description = S2_qSNz_PG_GP2_Q47]
1. Feminists around the world/fieq s @& amstarct

[Option ID = 14485]
2. North-American middle class white women /33! s@ifsar & arezmet asf bt = Afdeme

[Option ID = 14486]
3. Blacks and Latinos/3rda iz cireioft aifdemi

[Option ID = 14487]
4. Identified women groups in different places/fsoor - fioor Ferell w2 fifaa afden s

[Option ID = 14488]

Correct Answer :-

® Feminists around the world/frea = & smtact
[Option ID = 14485]

3)

Read the given passage and answer the questions that follow



Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle class
women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain by
black and Asian feminists. Such critiques evoked the concepts of ‘inter-locking identities' and inter-locking oppressions’.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were called
for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most women
around the world and attempted to reposition feminist debate within broader social, economic and cultural contexts of
analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the self-assumed
authority of western feminists to speak about or indeed for others was disputed and decentered. Influential accounts of the
tendencies of masculinist imperialist ideological formation to construct a ‘monolithic Third world' woman', discursively
constituted as the universal victim of Third world patriarchy, challenged feminists to “unlearn” their privilege and to
deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside intervention
of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars anxious to move
beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary, they were enduringly
influential in highlighting the questions identity and authority in feminist studies.
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The analytical frameworks of western feminists were critiqued by Third world scholars as:

I IRl @ Rreauviicad idl ol A3 el gforn & fdgmeil orI b wu 3 &l o ?

[Question ID = 3623][Question Description = S2_qSNz_PG_GP2_Q48]
1. they had different societal agendas/fdsor - firoor JHrst Addeft DrRia

[Option ID = 14489]
2. radical and irrelevant/siferarct siie smyRifSr Fu 9t
[Option ID = 14490]
3. they had to be repositioned in different contexts/fféreor dcail 3 gor:3emusr ol & fere

[Option ID = 14491]
4. they had to fit in a discursive discourse/fddmofict yader @ et

[Option ID = 14492]

Correct Answer :-
e they had different societal agendas/fdrsot - f8rcor 3wt el wrRidw
[Option ID = 14489]

4)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective 'we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle class
women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain by
black and Asian feminists. Such critiques evoked the concepts of ‘inter-locking identities' and inter-locking oppressions’.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were called



for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most women
around the world and attempted to reposition feminist debate within broader social, economic and cultural contexts of
analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the self-assumed
authority of western feminists to speak about or indeed for others was disputed and decentered. Influential accounts of the
tendencies of masculinist imperialist ideological formation to construct a ‘monolithic Third world' woman', discursively
constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege and to
deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside intervention
of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars anxious to move
beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary, they were enduringly
influential in highlighting the questions identity and authority in feminist studies.
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Post-colonial, western feminists were asked to

FaR - uforafdres urtirer sidiarfe=i A o= @war sk ?

[Question ID = 3624][Question Description = S2_qSNz_PG_GP2_Q49]
1. Free themselves from masculinist ideologies/gsuardt Brgidl 3 Fa=i @l b Bl D o

[Option ID = 14493]

2. Disengage themselves from the idea of 'Third world woman'./Fazi @t it gforn &t afdensii 3 sicer Bl D o
[Option ID = 14494]

3. Challenge the Third world patriarchy/iRt gforn &l IR DI Jolldl dol @ fere

[Option ID = 14495]
4. Deconstruct their status as intellectuals/gfgsiidl @ u 3f smuell fFerfer I WIH D0l D 1w

[Option ID = 14496]

Correct Answer :-
® Free themselves from masculinist ideologies/ysuarct Brgidl 3 ¥a=l @l b B0l D o
[Option ID = 14493]

5)

Read the given passage and answer the questions that follow

Early feminist theory had emphasised the commonalities of women's oppression, neglecting profound differences between
women in terms of class, age, religion, race and nation. As its exclusionary nature became evident, the collective ‘we' of
feminism was called into question. The inadequacies of feminist theorising that conflated the condition of white, middle class
women with the condition of all women were highlighted in North America by black and Latin feminists, and in Britain by
black and Asian feminists. Such critiques evoked the concepts of 'inter-locking identities' and inter-locking oppressions'.
Related and more radical analyses came from feminist scholars in the Third world, where quite different agendas were called
for. These critiques heightened the irrelevance of western feminism's analytical frameworks to the lives of most women
around the world and attempted to reposition feminist debate within broader social, economic and cultural contexts of
analysis advocated by scholars such as Janus. Such critiques spoke from a post-colonial position, in which the self-assumed
authority of western feminists to speak about or indeed for others was disputed and decentered. Influential accounts of the
tendencies of masculinist imperialist ideological formation to construct a ‘monolithic Third world' woman', discursively
constituted as the universal victim of Third world patriarchy, challenged feminists to "unlearn” their privilege and to
deconstruct their own authority as intellectuals. These positions appeared to question the legitimacy of outside intervention



of any kind, whether intellectual or political. Although subsequently attempted by the Third world scholars anxious to move
beyond standpoints that threatened to mark all feminist politics as either inauthentic or unnecessary, they were enduringly
influential in highlighting the questions identity and authority in feminist studies.
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The passage speaks of
Iz SreEn9r ey dfera 3 ?

[Question ID = 3625][Question Description = S2_qSNz_PG_GP2_Q50]
1. ldentity issues in feminist studies/e3lardt sieerrel 3 sl el 75

[Option ID = 14497]
2. Authority of western feminist scholars/urier sistarc figreil @ yiféisr

[Option ID = 14498]
3. Experience of Third world feminists/dt gforn & smtaifeRil ®r srojsra

[Option ID = 14499]
4. ldeological constructs all over the world/ g3l gform 3 danf¥e ferfdffer

[Option ID = 14500]

Correct Answer :-
e |dentity issues in feminist studies/sStarch sreerIGl 3t usdrol Adeft 7

[Option ID = 14497]
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[Question ID = 6259][Question Description = Q1_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24226]
2. 2 [Option ID = 24227]
3. 3 [Option ID = 24228]
4. 4 [Option ID = 24229]
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Correct Answer :-
e 1 [Option ID = 24226]
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[Question ID = 6260][Question Description = Q2_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24230]
2. 2 [Option ID = 24231]
3. 3 [Option ID = 24232]
4. 4 [Option ID = 24233]
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Correct Answer :-
e 1 [Option ID = 24230]
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[Question ID = 6261][Question Description = Q3_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24234]
2. 2 [Option ID = 24235]
3. 3 [Option ID = 24236]
4. 4 [Option ID = 24237]

Correct Answer :-
e 1 [Option ID = 24234]
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[Question ID = 6262][Question Description = Q4_S2_qSNz_PG_PER_A]
1 [Option ID = 24238]
2 [Option ID = 24239]
3 [Option ID = 24240]
4 [Option ID = 24241]
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Correct Answer :-
e 1 [Option ID = 24238]
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[Question ID = 6263][Question Description = Q5_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24242]
2. 2 [Option ID = 24243]
3. 3 [Option ID = 24244]
4. 4 [Option ID = 24245]

Correct Answer :-
e 1 [Option ID = 24242]

' aasaY) Giea e AanY) is @ book written by:

6

—

rish sl

S 8se ) paia gl
=l e llae

B2 S

[Question ID = 6264][Question Description = Q6_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24246]
2. 2 [Option ID = 24247]
3. 3 [Option ID = 24248]
4. 4 [Option ID = 24249]
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Correct Answer :-
e 1 [Option ID = 24246]
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[Question ID = 6265][Question Description = Q7_S2_qSNz_PG_PER_A]

1. 1 [Option ID = 24250]

2. 2 [Option ID = 24251]

3. 3 [Option ID = 24252]

4. 4 [Option ID = 24253]

Correct Answer :-

e 1 [Option ID = 24250]
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[Question ID = 6266][Question Description = Q8_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24254]
2. 2 [Option ID = 24255]
3. 3 [Option ID = 24256]
4. 4 [Option ID = 24257]

Correct Answer :-
e 1 [Option ID = 24254]



? 3) 2 5f i belongs to

3 ) 5 g Al
el Al
PP I V0 I

[Question ID = 6267][Question Description = Q9_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24258]
2. 2 [Option ID = 24259]
3. 3 [Option ID = 24260]
4. 4 [Option ID = 24261]

2

Tad

Correct Answer :-
e 1 [Option ID = 24258]

10) _)J_ﬂﬂ gl \;Q $ was a contemporary of

LU

1
L) Gaall sl asl o
‘-_5‘91&:.\ A1) éﬁ‘g oLff:_g,

SR e g

[Question ID = 6268][Question Description = Q10_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24262]
2. 2 [Option ID = 24263]
3. 3 [Option ID = 24264]
4. 4 [Option ID = 24265]

Correct Answer :-
e 1 [Option ID = 24262]

[e—

Olluilad)

Ol
ol

Ol ) 4

[Question ID = 6269][Question Description = Q11_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24266]
2. 2 [Option ID = 24267]
3. 3 [Option ID = 24268]
4. 4 [Option ID = 24269]

2

)

Correct Answer :-
e 1 [Option ID = 24266]

D g jaw ea and g aed l Served in the court of

o R sl L

] —_

b
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[Question ID = 6270][Question Description = Q12_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24270]
2. 2 [Option ID = 24271]
3. 3 [Option ID = 24272]
4. 4 [Option ID = 24273]

Correct Answer :-

e 1 [Option ID = 24270]

¥ ol B o) seda was the court poet of

sLd () gilad palledle
u1jl§' Qdgana,

e L',Hjbm-‘: &

oLl JJLC. eJA‘)J'I

[Question ID = 6271][Question Description = Q13_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24274]
2. 2 [Option ID = 24275]
3. 3 [Option ID = 24276]
4. 4 [Option ID = 24277]

¥ (g7 b

i

Correct Answer :-
e 1 [Option ID = 24274]

14) i
s<Lac Wwas bornin

LRy
PPy

ALl aaal 4

[a—

b

[Question ID = 6272][Question Description = Q14_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24278]
2. 2 [Option ID = 24279]
3. 3 [Option ID = 24280]
4. 4 [Option ID = 24281]

Correct Answer :-
e 1 [Option ID = 24278]

gl

Q18 pain 4

[Question ID = 6273][Question Description = Q15_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24282]
2. 2 [Option ID = 24283]
3. 3 [Option ID = 24284]
4. 4 [Option ID = 24285]

Correct Answer :-



e 1 [Option ID = 24282]

') Shukk Satpatiwas rendered in Persian as

aals Qb 4
el sl o
rald (a8
ral oo gl 4

[Question ID = 6274][Question Description = Q16_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24286]
2. 2 [Option ID = 24287]
3. 3 [Option ID = 24288]
4. 4 [Option ID = 24289]

L]

Correct Answer :-
e 1 [Option ID = 24286]

v &)yl (ga=w Was invited to come to India by

L)Lu.m RPENY a.‘t‘__}g.ﬂ:_l
Gpall 7l aad s
BENS Tk

JLesS 4

[Question ID = 6275][Question Description = Q17_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24290]
2. 2 [Option ID = 24291]
3. 3 [Option ID = 24292]
4. 4 [Option ID = 24293]

Correct Answer :-
e 1 [Option ID = 24290]

S5 deaa dedicated his b 5 1) adl ol 5 LKA adl sa to

S dasa Sl (;LEJ_::,
Sl opall alad el 4

[Question ID = 6276][Question Description = Q18_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24294]
2. 2 [Option ID = 24295]
3. 3 [Option ID = 24296]
4. 4 [Option ID = 24297]

Correct Answer :-
e 1 [Option ID = 24294]

P Sl A sl y lived in

1

(S

Ol
"J = |\< |-.'|.:

]



[Question ID = 6277][Question Description = Q19_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24298]
2. 2 [Option ID = 24299]
3. 3 [Option ID = 24300]
4. 4 [Option ID = 24301]

Correct Answer :-
e 1 [Option ID = 24298]

¥ Jlas jlea is also known as

-2

__).‘n'l‘pl“ rada,

b

[Question ID = 6278][Question Description = Q20_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24302]
2. 2 [Option ID = 24303]
3. 3 [Option ID = 24304]
4. 4 [Option ID = 24305]

Correct Answer :-
e 1 [Option ID = 24302]

™
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b
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R
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[Question ID = 6279][Question Description = Q21_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24306]
2. 2 [Option ID = 24307]
3. 3 [Option ID = 24308]
4. 4 [Option ID = 24309]

Correct Answer :-
e 1 [Option ID = 24306]

? sslan 5 iyl first entered in the service of

O LS
Gl el Sl
OB g
[Question ID = 6280][Question Description = Q22_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24310]
2. 2 [Option ID = 24311]

3. 3 [Option ID = 24312]
4. 4 [Option ID = 24313]

[a—

2

d

Correct Answer :-



e 1 [Option ID = 24310]

2 ISl 575 i is Written by

—

R ol elua
SR gl
A SE ugaillae 4

[Question ID = 6281][Question Description = Q23_S2_qSNz_PG_PER_A]
1 [Option ID = 24314]
2 [Option ID = 24315]
3 [Option ID = 24316]
4 [Option ID = 24317]

2

L]

N w N =

Correct Answer :-
e 1 [Option ID = 24314]

2 Al )& sl yw o)) saa is edited by

035 sl
daa)  pd3 2L 3

[a—

r2

[Question ID = 6282][Question Description = Q24_S2_qSNz_PG_PER_A]
1 [Option ID = 24318]
2 [Option ID = 24319]
3 [Option ID = 24320]
4 [Option ID = 24321]

N w N =

Correct Answer :-
e 1 [Option ID = 24318]

% _llaa Chanced to meet
=l e llae

ould e g

29 LY ga.

A S asallae 4

[Question ID = 6283][Question Description = Q25_S2_qSNz_PG_PER_A]
1 [Option ID = 24322]
2 [Option ID = 24323]
3 [Option ID = 24324]
4 [Option ID = 24325]

[a—

2

d

A w N =

Correct Answer :-
e 1 [Option ID = 24322]

® sl oA of 5 jua Sl s the history of

old )¢ 8 _p_ﬂ\ JE\A uUn.L.ul

.1-]4- o L:u'jl\ &ué 2
) AjA N oA o u.‘d\c}l.c \LL.L.u -~
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[Question ID = 6284][Question Description = Q26_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24326]
2. 2 [Option ID = 24327]
3. 3 [Option ID = 24328]
4. 4 [Option ID = 24329]

Correct Answer :-
e 1 [Option ID = 24326]

k@ s . is a dictionary written by

Qlle ) e g

S a1 e

[Question ID = 6285][Question Description = Q27_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24330]
2. 2 [Option ID = 24331]
3. 3 [Option ID = 24332]
4. 4 [Option ID = 24333]

Correct Answer :-
e 1 [Option ID = 24330]

28) BT ) G‘-J"‘“ is written by

5 i.?‘“un" :
-
.J‘.JJJ““:‘S (e
> O
JPRETVEN Alue 4

[Question ID = 6286][Question Description = Q28_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24334]
2. 2 [Option ID = 24335]

3. 3 [Option ID = 24336]
4. 4 [Option ID = 24337]

[

(]

%)

Correct Answer :-
e 1 [Option ID = 24334]

® 6 md )i g ) seka was the son-in-law of

il
u\jlg .‘u_}m 3
s b 4

[Question ID = 6287][Question Description = Q29_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24338]
2. 2 [Option ID = 24339]
3. 3 [Option ID = 24340]
4. 4 [Option ID = 24341]

[

4d

Correct Answer :-



e 1 [Option ID = 24338]

[Question ID = 6288][Question Description = Q30_S2_qSNz_PG_PER_A]
1 [Option ID = 24342]
2 [Option ID = 24343]
3 [Option ID = 24344]
4 [Option ID = 24345]

D w N -

Correct Answer :-
e 1 [Option ID = 24342]

" sk i aa IS the aalus of

~ld gl

B | o
S bl o 583 ;
el 2L ) 4

[Question ID = 6289][Question Description = Q31_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24346]
2. 2 [Option ID = 24347]
3. 3 [Option ID = 24348]
4. 4 [Option ID = 24349]

[a—

2

ad

Correct Answer :-
e 1 [Option ID = 24346]

P ¢ jaaw Cpaa Finally settled in-

é&h = |
= =
A K,
D3
-z
_‘.bj L_i; ) J\ 4
[Question ID = 6290][Question Description = Q32_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24350]
2. 2 [Option ID = 24351]
3. 3 [Option ID = 24352]
4. 4 [Option ID = 24353]
Correct Answer :-

e 1 [Option ID = 24350]

" The » <33 Not written by _ KL, 1 51 among the following is

'I T 1:f1“ - ‘<-~‘..‘,

(]

y]
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[Question ID = 6291][Question Description = Q33_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24354]
2. 2 [Option ID = 24355]
3. 3 [Option ID = 24356]
4. 4 [Option ID = 24357]

Correct Answer :-
e 1 [Option ID = 24354]

*¥ Numbers of chapters in Persian in dla

V¥ |

' A8
N
7 4

[Question ID = 6292][Question Description = Q34_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24358]
2. 2 [Option ID = 24359]
3. 3 [Option ID = 24360]
4. 4 [Option ID = 24361]

-2

)

Correct Answer :-
e 1 [Option ID = 24358]

35) o (334 s also known as:

GAY) a5 3 3 AW axl 6l
S Salle 3MAl

Oy gl yhs @Al 4

[Question ID = 6293][Question Description = Q35_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24362]
2. 2 [Option ID = 24363]
3. 3 [Option ID = 24364]
4. 4 [Option ID = 24365]

-t

Correct Answer :-
e 1 [Option ID = 24362]

) aaxigladisa alad of:

s Hlg
1oz ).
s R e

[Question ID = 6294][Question Description = Q36_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24366]
2. 2 [Option ID = 24367]
3. 3 [Option ID = 24368]
4. 4 [Option ID = 24369]

1

(]

td



Correct Answer :-
e 1 [Option ID = 24366]

*) The court language of jLiiielia was
QL (o la

sl Ol o
SIS sl
Al (6 sl 4

[Question ID = 6295][Question Description = Q37_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24370]
2. 2 [Option ID = 24371]
3. 3 [Option ID = 24372]
4. 4 [Option ID = 24373]

LS

Correct Answer :-
e 1 [Option ID = 24370]

38) e il o ;
s Luia composed:

Ay b
i
PARIEvIIRY

[Question ID = 6296][Question Description = Q38_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24374]
2. 2 [Option ID = 24375]
3. 3 [Option ID = 24376]
4. 4 [Option ID = 24377]

2

4

Correct Answer :-
e 1 [Option ID = 24374]

) ¢ }Lﬂ_, Sl is also called

[a—

2l JL )y

A28 ) 4

[Question ID = 6297][Question Description = Q39_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24378]
2. 2 [Option ID = 24379]
3. 3 [Option ID = 24380]
4. 4 [Option ID = 24381]

2

-t

Correct Answer :-
e 1 [Option ID = 24378]

40) uLc,_},g was the first capital of

Olulialaa
Ol 5



Oualha s
Olalie 4

[Question ID = 6298][Question Description = Q40_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24382]
2. 2 [Option ID = 24383]
3. 3 [Option ID = 24384]
4. 4 [Option ID = 24385]

Correct Answer :-
e 1 [Option ID = 24382]

omall G WITEN DY 00 231 53 cpal) Sile
Sl Jl; EERDLN Laidia, A

ol Al x_u.“; s~ Y19 Il 2B

Bl B N5 s ) N 5 B 0 C
Sl Ol (a g LD

b calls &l (el Cas s o) sa.E

Choose the correct answer from the options given below:

A.B & C Only .1

2

C.D, & EOnly .

J

A, C & E Only .3

"

B.C. & D Only .

I

[Question ID = 6299][Question Description = Q41_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24386]
2. 2 [Option ID = 24387]
3. 3 [Option ID = 24388]
4. 4 [Option ID = 24389]

Correct Answer :-
e 1 [Option ID = 24386]

& » 1 il was the representative of:
sud S A

el A SauB

S e S

€5k SouD

Choose the correct answer from the options given below:

AOnlv.1



B 01115; :
C Only .
D Only .

[N B

I

[Question ID = 6300][Question Description = Q42_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24390]
2. 2 [Option ID = 24391]
3. 3 [Option ID = 24392]
4. 4 [Option ID = 24393]

Correct Answer :-
e 1 [Option ID = 24390]

¥ b oall (pall 5 58
03 93 0 Cpy )y JidlA

by e el o o s o B

235 sy ABIS a2 KLEC

A Sl adhld jelas sledlD

Choose the correct answer from the options given below:

A.B & EOnly.
B,C & E Only .
A.B.C & DOnly.
B.C.D,& E Only .

EE o R S

[Question ID = 6301][Question Description = Q43_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24394]

2. 2 [Option ID = 24395]

3. 3 [Option ID = 24396]

4. 4 [Option ID = 24397]

Correct Answer :-

e 1 [Option ID = 24394]

a)) (K is the love story of
Jdul 5 oladle.A
Ot 5 sla.B
s g g oG
S Gy el 3D

Choose the correct answer from the options given below:

A Only .
B Only .
C Only .

2 =



D ounly .4
[Question ID = 6302][Question Description = Q44_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24398]
2. 2 [Option ID = 24399]
3. 3 [Option ID = 24400]
4. 4 [Option ID = 24401]
Correct Answer :-

e 1 [Option ID = 24398]

Last ruler of _iwlaa dynasty was

A )52 LA

a s il )lC
a s Uh g yla.D

Choose the correct answer from the options given below:

A Ounly .1
B Only .2
C Only .3
D Only 4

[Question ID = 6303][Question Description = Q45_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24402]

2. 2 [Option ID = 24403]

3. 3 [Option ID = 24404]

4. 4 [Option ID = 24405]

Correct Answer :-

e 1 [Option ID = 24402]

Personalities associated with () siall 1
25 elA
OA SL.B

1)1;13 sl L_)J.‘J'I J...a'u.C
Jaliola e ~8.D
Slgial yanaE

Choose the correct answer from the options given below:

A.B & C Only.
B,C, & E Only .
C.D, & E Only .
A.D.& B Only .

[Question ID = 6304][Question Description = Q46_S2_qSNz_PG_PER_A]

=

Gl



1. 3 [Option ID = 24408]
2. 4 [Option ID = 24409]
3. 1 [Option ID = 24406]
4. 2 [Option ID = 24407]

Correct Answer :-

e 1 [Option ID = 24406]

Famous "au cwa" i 1. Was composed by:

?&"‘ RSG.D
Choose the correct answer from the options given below:

A Only .1
B Only .
C Oanly .
D Only 4

W 2

[Question ID = 6305][Question Description = Q47_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24410]
2. 2 [Option ID = 24411]
3. 3 [Option ID = 24412]
4. 4 [Option ID = 24413]

Correct Answer :-
e 1 [Option ID = 24410]

® JAJJJCJJuOfJAJ_\Jm\f‘C«y‘
Cad Sslall g du)ll 7 )6 ) (o) e SA
NG RV )SJ (aJ_‘nﬁ Dl s Adged HILB

Al e Gl a3 Hgo g xnda g eala SiC

sl g e @l a5 lue D

Cud 0d S (g ke avila Il_);LuJ}JMuLLML_;\_u.uJAJJJE

Choose the correct answer from the options given below:

B.C&DOnly.1
A, B, & COnly.2
C.D&EOnly.3
A.D & E Only 4

[Question ID = 6306][Question Description = Q48_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24414]



2. 2 [Option ID = 24415]
3. 3 [Option ID = 24416]
4. 4 [Option ID = 24417]

Correct Answer :-
e 1 [Option ID = 24414]

) gl ale 2A

o) o2l Cadls (g ad agw (8 0B

ol Lf 1 oyl gy S3.C

oy 6 T s . Sl B b Lo

il b A O QY il ey 53 1) QUS () Lol pla s E

Choose the correct answer from the options given below:

A.B & COnly.1
B, C & D Only .2
B.D & E Only .3

C.D & E Only .4
[Question ID = 6307][Question Description = Q49_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24418]
2. 2 [Option ID = 24419]
3. 3 [Option ID = 24420]
4. 4 [Option ID = 24421]

Correct Answer :-
e 1 [Option ID = 24418]

il edig V¥ A
S5 SB L sl i 3 B

Bl e B g s S BT
A8 oo S8) Oy 2D

.k s Jlas oE
Choose the correct answer from the options given below:

A,B&E Only .
A, C & DOnly.
B,C & E Only .
C.D & E Only .

B b —



[Question ID = 6308][Question Description = Q50_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24422]
2. 2 [Option ID = 24423]
3. 3 [Option ID = 24424]
4. 4 [Option ID = 24425]

Correct Answer :-
e 1 [Option ID = 24422]

t_u.u\f ,-JL;.u od_).\l.x.uu.\l}1 JLB
Cual s )SJ uL\S u;'l 3 L_)JJ.H:;- ).\SJJJ ey .C
o oadi el by el sl 2 D

Aslaaeng uLL.L.u & C_u )SJ s ) HaE
Choose the correct answer from the options given below:

A,B & COnly.
B.C&DOuly.
C,& D Only.
B.D & E Only .
[Question ID = 6309][Question Description = Q51_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24426]
2. 2 [Option ID = 24427]

3. 3 [Option ID = 24428]
4. 4 [Option ID = 24429]

o =

Y

Correct Answer :-
e 1 [Option ID = 24426]

Plely

Al e )l o s e 197 0A

PV RLG - W O

A S aea i o ld o S gl A o S gla jaldliae.C

A S e sl ol 5 JW n dalidie o) o s aea 5 ) Ala 2 LSID

il Ol Ay Jls e Qe 3 Gl mes 5 sl E

Choose the correct answer from the options given below:

A, B & COnly.
B. C & D Only .
A, C & DOnly.

P -

td



C.D & E Only 4

[Question ID = 6310][Question Description = Q52_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24430]
2. 2 [Option ID = 24431]
3. 3 [Option ID = 24432]
4. 4 [Option ID = 24433]

Correct Answer :-

o 1 [Option ID = 24430]

~sl ) 5 ASQA
Ol )l g ».B

Ol W oL (3 s.E
Choose the correct answer from the options given below:

A,D & E Only.
B.D & E Only .
A,B & C Only.
B, C&E Only

[Question ID = 6311][Question Description = Q53_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24434]
2. 2 [Option ID = 24435]
3. 3 [Option ID = 24436]
4. 4 [Option ID = 24437]

D -

ot

Correct Answer :-
e 1 [Option ID = 24434]

The following is of Sadiq Hedayat
<l LA

JSI ia.B

Choose the correct answer from the options given below:

AB.C&DOnly.1
B.C.D, & E Only .2
C.D & E Only .3

™ &Y Ty ¢ T dsnk: A
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[Question ID = 6312][Question Description = Q54_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24438]
2. 2 [Option ID = 24439]
3. 3 [Option ID = 24440]
4. 4 [Option ID = 24441]

Correct Answer :-
e 1 [Option ID = 24438]

22 Cui& 3l sy g2 starts with the presence of
) ik (g22u.B

bl g2 Y 5.C

Sletal AlaiD

s LB

Choose the correct answer from the options given below:

A Only .1
B Only .
C & D Only .
E Only .

2

¥

I

[Question ID = 6313][Question Description = Q55_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24442]
2. 2 [Option ID = 24443]
3. 3 [Option ID = 24444]
4. 4 [Option ID = 24445]

Correct Answer :-
e 1 [Option ID = 24442]

U 8 )3 Za )l is written by

bl i) Ll (sage 1) yreA
L) yisd A (s3ga ) ) 1e.B

Slgtal ul.C
lgal (gll.D

Sgial gile E
Choose the correct answer from the options given below:

A Only .1
B Only .
C Only .
D & E Only .

2

¥

I



[Question ID = 6314][Question Description = Q56_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24446]
2. 2 [Option ID = 24447]
3. 3 [Option ID = 24448]
4. 4 [Option ID = 24449]

Correct Answer :-
e 1 [Option ID = 24446]

First of all ~als was started in Iran with year

1852.A
1752.B

1652.C
1552.D

Choose the correct answer from the options given below:

A Only .1
B Only .2
C Only .3
D Oanly 4

[Question ID = 6315][Question Description = Q57_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24450]
2. 2 [Option ID = 24451]
3. 3 [Option ID = 24452]
4. 4 [Option ID = 24453]

Correct Answer :-

e 1 [Option ID = 24450]

58)

The sufi of India who visited ~2 68 and met =5 ol 2 Y s was
e odale A

3gana (pall juatB

S (g ol (i C

ﬁ\f\fﬂ)dﬂﬂbué&y.[)

Choose the correct answer from the options given below:

A & B Only .1
C Only .2
B Only .3
D Ounly .4

[Question ID = 6316][Question Description = Q58_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24454]
2. 2 [Option ID = 24455]
3. 3 [Option ID = 24456]
4. 4 [Option ID = 24457]

Correct Answer :-



o 1 [Option ID = 24454]

sluw )& jlis is the collection of stories of

&5 mS 2aalA

ERVSLLIRYEINE
sste K nc
Culaa (3aba.D

Choose the correct answer from the options given below:

A Only .
B Only .
C Only .
D Only .

B Wi~

[Question ID = 6317][Question Description = Q59_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24458]
2. 2 [Option ID = 24459]
3. 3 [Option ID = 24460]
4. 4 [Option ID = 24461]

Correct Answer :-
e 1 [Option ID = 24458]

uj'\'.)" é"D

Choose the correct answer from the options given below:

A Only .
B Only .
C Only .
D Only .

) -

o

[Question ID = 6318][Question Description = Q60_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24462]
2. 2 [Option ID = 24463]
3. 3 [Option ID = 24464]
4. 4 [Option ID = 24465]

Correct Answer :-
e 1 [Option ID = 24462]

*Y Translation from Sanskrit upanishad into Persian of » il 4l of



el 2y A
BHEPE:
28 HuC
b ashaD

Choose the correct answer from the options given below:

A Only .1
C Only .2
B Only .3
D Only 4

[Question ID = 6319][Question Description = Q61_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24466]
2. 2 [Option ID = 24467]
3. 3 [Option ID = 24468]
4. 4 [Option ID = 24469]

Correct Answer :-
e 1 [Option ID = 24466]

b Ol s wrote

Lasda CJ_}LB

O lga.C
CLiie.D
1 1 it E

Choose the correct answer from the options given below:

C,D & E Only .1
A.B& COnly.2
B.C & D Ounly .3
A,B&EOnly 4

[Question ID = 6320][Question Description = Q62_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24470]
2. 2 [Option ID = 24471]
3. 3 [Option ID = 24472]
4. 4 [Option ID = 24473]

Correct Answer :-
e 1 [Option ID = 24470]
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Choose the correct answer from the options given below:

A, B & DOnly.
B. A & C Oaly .
B.C & D Only .
A.C & D Only .

LU bd

=N

[Question ID = 6321][Question Description = Q63_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24474]
2. 2 [Option ID = 24475]
3. 3 [Option ID = 24476]
4. 4 [Option ID = 24477]

Correct Answer :-

e 1 [Option ID = 24474]

ol rsha pall jad aal s A

Sl 2l LD 53 (5 )b a9 O 8 2B

sl B B 5 Me el gy e

o) o2 (G gira )AL Cps el AU 0D

ol 0ad Cali sl aSla aallae pall juals (ia) i AnE

Choose the correct answer from the options given below:

A.B.& D Only .1
A, C, & E Only .2
B.C. & D Only .3
C.D & E Only 4

[Question ID = 6322][Question Description = Q64_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24478]
2. 2 [Option ID = 24479]
3. 3 [Option ID = 24480]
4. 4 [Option ID = 24481]

Correct Answer :-
e 1 [Option ID = 24478]

g, )‘a\“':c 1\‘ n\” £ \<*\': 4 L o 111( A Y |
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Choose the correct answer from the options given below:

A B&COnly.
B,C, & D Only.
C,D, & E Only.
A B &EOnly 4

Ul b

[Question ID = 6323][Question Description = Q65_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24482]
2. 2 [Option ID = 24483]
3. 3 [Option ID = 24484]
4. 4 [Option ID = 24485]

Correct Answer :-
e 1 [Option ID = 24482]

66) Match List | with List Il
I T S I 753 R
A S5 Osn A ! Dl
B| oal laa o dese auw I et
J o on  |m e
ID Culad (3ol IV PYIVEY

Choose the correct answer from the options given below:

A-II.B-1.C-1II.D-1IV.
A-1.B-II.C-III. D-IV .
A-I.B-1II.C-1IV.,D-1II.
A-III.B-IV.C-1.D-1I.

[Question ID = 6324][Question Description = Q66_S2_qSNz_PG_PER_A]

1. 1 [Option ID = 24486]

2. 2 [Option ID = 24487]

3. 3 [Option ID = 24488]
4. 4 [Option ID = 24489]

) I =

Ey

Correct Answer :-
e 1 [Option ID = 24486]

Match List | with List Il

LISTI LISTII

|B‘| o B B e e ‘lIIu il e
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Choose the correct answer from the options given below:

A-1.B-III.C-IV.D-1II.
A-II.B-1.C-1IV.D-1III.
A-III.B-1.C-II,D-1IV.
A-I.B-II.C-III.D-1IV 4

LS o T

[Question ID = 6325][Question Description = Q67_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24490]
2. 2 [Option ID = 24491]
3. 3 [Option ID = 24492]
4. 4 [Option ID = 24493]

Correct Answer :-
e 1 [Option ID = 24490]

68) Match List | with List 1l
LIST I LIST II
A Loy 3 Adlw I O Ol xia
B e len m ) ol Jile
(e Glall &yl 111 o g5l Hla
D b (o) 88 Al IV S

Choose the correct answer from the options given below:

A-TT.B-I1.C-1V . D-1IT .1
A-1.B-III.C-II.D-1IV .2
A-IV . B-1.C-1I,D-1IT .3
A-TII.B-1.C-II,D-1IV 4
[Question ID = 6326][Question Description = Q68_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24494]
2. 2 [Option ID = 24495]
3. 3 [Option ID = 24496]
4. 4 [Option ID = 24497]
Correct Answer :-
o 1 [Option ID = 24494]
°% Match List | with List II
LISTI LISTII
A Dlsal S I > S&) )
B Ll g A 11 (ad
|c D50 aF e I s\ gy Ola
D iy oM o0 SN A walle
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Choose the correct answer from the options given below:

A-1.B-III.C-II.D-1IV .1
A-IMII.B-1.C-II.D-1V .2
A-IT.B-1.C-IV.D-1II .3
A-IV . B-1.C-III.D-1I 4
[Question ID = 6327][Question Description = Q69_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24498]
2. 2 [Option ID = 24499]
3. 3 [Option ID = 24500]
4. 4 [Option ID = 24501]
Correct Answer :-
e 1 [Option ID = 24498]
70) i . .
Match List | with List I
LISTI LISTII
| ﬂ| A9 dasa I | Jre
B 6 (pan II iy W
lc Suldola Je g 111 STIEY
p Ayl IV AR

Choose the correct answer from the options given below:

A-1.B-II.C-III.D-1IV .1
A-1.B-III.C-II.D-1IV .2
A-III.B-II.C-1.D-1IV .3
A-II.B-I.C-1II.D-1IV 4
[Question ID = 6328][Question Description = Q70_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24502]
2. 2 [Option ID = 24503]
3. 3 [Option ID = 24504]
4. 4 [Option ID = 24505]
Correct Answer :-
e 1 [Option ID = 24502]
" Match List | with List 1|
_ LISTI LISTII
(A 2 9& lana I QLJ‘.SAJ‘ t‘“‘..ﬁ‘
e Hle HAS 11 F-G\_*s.u]t 3 ~._1_);.“ s.._ﬂ_'l_l
D smiad glui v S sl S

Choose the correct answer from the options given below:

A-I.B-III.C-II.D-1IV.
A-II.B-1.C-IIT1,D-1V.
A-IV . B-1.C-1II.D-1III.
AT BT 2T 1y 1A
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[Question ID = 6329][Question Description = Q71_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24506]
2. 2 [Option ID = 24507]
3. 3 [Option ID = 24508]
4. 4 [Option ID = 24509]

Correct Answer :-
e 1 [Option ID = 24506]

72) Match List | with List Il
LIST I LIST II
A Crlda 0dpal I SEa
" Aaadll 3k I Obs e UL
| c il ged I s et dilae
s Pl

Choose the correct answer from the options given below:

A-1.B-ITI.C-MMI,.D-TV .1
A-1.B-1II.C-I1.D-1V .2
A-IV . .B-1.C-11.D-1IIT .3
A-1.B-IV.C-1I1.D-1IT 4
[Question ID = 6330][Question Description = Q72_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24510]
2. 2 [Option ID = 24511]
3. 3 [Option ID = 24512]
4. 4 [Option ID = 24513]
Correct Answer :-
e 1 [Option ID = 24510]
7 Match List | with List II
LISTI LISTII
|B S8 o (S35 ) I opaie Rz S
lc 282 111 & ¥ Jgana

Choose the correct answer from the options given below:

A-II.B-1IV.C-1.D-1II .1
A-IV.B-1.C-1II.D-1IIT .2
A-I.B-III.C-II.D-1V .3
A-IV.,B-1.C-1II.D-1I 4

[Question ID = 6331][Question Description = Q73_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24514]
2. 2 [Option ID = 24515]
3. 3 [Option ID = 24516]
4. 4 [Option ID = 24517]

Correct Answer :-
e 1 [Option ID = 24514]



74) Match List | with List Il

| LISTI | LIST IT

A Ala I e
Okl 1| (O)red) ~licSa

C Olnilali 1 |l

D i v e

Choose the correct answer from the options given below:

A-TT.B-1.C-1II,D-1V.
A-T1.B-III.C-IV .D-1II..
A-TII.B-1I.C-II.D-1V.
A-IV . B-TI.C-TII.D-1I.

[Question ID = 6332][Question Description = Q74_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24518]
2. 2 [Option ID = 24519]
3. 3 [Option ID = 24520]
4. 4 [Option ID = 24521]

[ S R

Correct Answer :-
e 1 [Option ID = 24518]

75) Match List | with List I
LIST I LIST II
la sl ya S I S50
B Soe Sau " Y e
lc S S 111 S8
I T

Choose the correct answer from the options given below:

A-I1.B-II.C-1II,D-1IV.
A-T.B-III.C-IV.D-1I.
A-IV . B-TII,.C-II.D-1.
A-II.B-1.C-IIT,D-1IV.
[Question ID = 6333][Question Description = Q75_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24522]
2. 2 [Option ID = 24523]

3. 3 [Option ID = 24524]
4. 4 [Option ID = 24525]

[ o T

S

Correct Answer :-
e 1 [Option ID = 24522]

¢} Arrange chronologically as per their period government

Okslla.A

sliEmR
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Choose the correct answer from the options given below:

BCAD.
DACH.
ADCB.
DCAB.-

(PRI S I

I

[Question ID = 6334][Question Description = Q76_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24526]
2. 2 [Option ID = 24527]
3. 3 [Option ID = 24528]
4. 4 [Option ID = 24529]

Correct Answer :-

e 1 [Option ID = 24526]

" Arrange chronologically the following languages as per the period of currency

_g__)d GM_JB.A
Jhuly LB
s 51 C

s sig2.D

Choose the correct answer from the options given below:

B.A.CD.
D.ACB.
ABECD.
B.CDA.

% B g I

Y

[Question ID = 6335][Question Description = Q77_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24530]

2. 2 [Option ID = 24531]

3. 3 [Option ID = 24532]

4. 4 [Option ID = 24533]

Correct Answer :-

e 1 [Option ID = 24530]

Arrange chronologically as per their date of death
Ll sl ) allad aad 53 & jums A

B e

& oam () pxe anl 52 O aalC

34 e ) Al Al O panD

Choose the correct answer from the options given below:



AU 1A
DACB.2
CABDDb 3
B.A.D,CA4

[Question ID = 6336][Question Description = Q78_S2_qSNz_PG_PER_A]

1. 1 [Option ID = 24534]

2. 2 [Option ID = 24535]

3. 3 [Option ID = 24536]

4. 4 [Option ID = 24537]

Correct Answer :-

e 1 [Option ID = 24534]

79) The Mughals ruled in the following order

LJJJLQAA

KileaB
LE1C

»L.D

Choose the correct answer from the options given below:

ACDB.
B.C.DA.
CABD.
DACB.

U b -

T

[Question ID = 6337][Question Description = Q79_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24538]

2. 2 [Option ID = 24539]

3. 3 [Option ID = 24540]

4. 4 [Option ID = 24541]

Correct Answer :-

e 1 [Option ID = 24538]

The Mughals ruled in the following order

Gu %) slA
PESPEN-
OlgaalinC

LD

Choose the correct answer from the options given below:

ABCDA
ACBD.Z2
Coa BTy 5
D.B.C,A 4



[Question ID = 6338][Question Description = Q80_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24542]
2. 2 [Option ID = 24543]
3. 3 [Option ID = 24544]
4. 4 [Option ID = 24545]

Correct Answer :-
e 1 [Option ID = 24542]

Pick the odd men out from the following

sAL 3 A
Jx.B
=k
n 5l

Choose the correct answer from the options given below:

D only .
A only .
B only .
C only .

[ R

[Question ID = 6339][Question Description = Q81_S2_qSNz_PG_PER_A]
1 [Option ID = 24546]
2 [Option ID = 24547]
3 [Option ID = 24548]
4 [Option ID = 24549]

AN wN =

Correct Answer :-
e 1 [Option ID = 24546]

Pick the odd man out from the following

‘)_\Jaﬂ'l 31.).0,A

AN o
o__)w.u:LD

Choose the correct answer from the options given below:

B only .1
D only .2
Conly .3
A only .4

[Question ID = 6340][Question Description = Q82_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24550]
2. 2 [Option ID = 24551]
3. 3 [Option ID = 24552]
4. 4 [Option ID = 24553]

Correct Answer :-
e 1 [Option ID = 24550]



83) Arrange chronologically as per the year of compilation

DY) adlac A
o : s .C

g yad Sl dseD

Choose the correct answer from the options given below:

ABCTY:1
B,A.D.C 2
CADR 3
DACB 4

[Question ID = 6341][Question Description = Q83_S2_qSNz_PG_PER_A]

1. 1 [Option ID = 24554]

2. 2 [Option ID = 24555]

3. 3 [Option ID = 24556]

4. 4 [Option ID = 24557]

Correct Answer :-

e 1 [Option ID = 24554]

84) Arrange chronologically as per the year of compilation

S b Fo b Aea SSA
= 5l 5538

A K

el ol D

Choose the correct answer from the options given below:

C.A.D.B.
B.D A C.2
DA BLC.S
A.D,B.CA4

[Question ID = 6342][Question Description = Q84_S2_qSNz_PG_PER_A]

1. 1 [Option ID = 24558]

2. 2 [Option ID = 24559]

3. 3 [Option ID = 24560]

4. 4 [Option ID = 24561]

Correct Answer :-

e 1 [Option ID = 24558]

85) Arrange chronologically as per their period

SB82A
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Choose the correct answer from the options given below:

pODOW

Cpm0
wweg

ool el
A TE R TN

[Question ID = 6343][Question Description = Q85_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24562]
2. 2 [Option ID = 24563]
3. 3 [Option ID = 24564]
4. 4 [Option ID = 24565]

Correct Answer :-

e 1 [Option ID = 24562]

86)
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A:

0 ea m Cmend PR ah oy (g 3y Ciila

Reason R:
In the light of the above statements, choose the correct answer from the options given below

Both A and R are true and R is the correct explanation of A .1
Both A and R are true but R is NOT the correct explanation of A .2
A 1s true but R is false .3

A 1s false but R 1s true .

=9

[Question ID = 6344][Question Description = Q86_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24566]
2. 2 [Option ID = 24567]
3. 3 [Option ID = 24568]
4. 4 [Option ID = 24569]

Correct Answer :-

e 1 [Option ID = 24566]

87)
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A:

3l A3e K glaa led s b Sl cpal) aad Ual

Reason R:
Sl Al Glay gy 3 Sl pall alad UL

In the light of the above statements, choose the correct answer from the options given below



Both A and R are true and R is the correct explanation of A .1
Both A and R are true but R is NOT the correct explanation of .2
A 1s true but R is false .3
A 1s false but R 1s true .4
[Question ID = 6345][Question Description = Q87_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24570]
2. 2 [Option ID = 24571]

3. 3 [Option ID = 24572]
4. 4 [Option ID = 24573]

Correct Answer :-
e 1 [Option ID = 24570]

88)
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A:

_Qégklll:\aﬁ_}_JJgo)giJﬁLg_P MYVLJL..:J:.(;)@(_;Q;

Reason R:
DA O Hm e R 2 SOS Sls
In the light of the above statements, choose the correct answer from the options given below

Both A and R are true and R is the correct explanation of A .1
Both A and R are true but R 1s NOT the correct explanation of .2
A 1s true but R 1s false .3
A is false but R is true .4
[Question ID = 6346][Question Description = Q88_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24574]
2. 2 [Option ID = 24575]

3. 3 [Option ID = 24576]
4. 4 [Option ID = 24577]

Correct Answer :-
e 1 [Option ID = 24574]

89)

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A:

o3y gl GG o) Allaie 5 SN e i1 jAs allae

Reason R:
Sl el &L a1 e a3 3 HBG Al 5 S0
In the light of the above statements, choose the correct answer from the options given below

Both A and R are true and R 1s the correct explanation of A .1
Both A and R are true but R is NOT the correct explanation of A .2
A is true but R is false .3

A is false but R is true .

I

[Question ID = 6347][Question Description = Q89_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24578]
2. 2 [Option ID = 24579]



3. 3 [Option ID = 24580]
4. 4 [Option ID = 24581]

Correct Answer :-
e 1 [Option ID = 24578]

90)

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A:

L0 A e8a s gledjal o Jay a9 cleaS gl e

Reason R:

8125 s L 55 oS 1y s oy i 0y s ol e

In the light of the above statements, choose the correct answer from the options given below

Both A and R are true and R is the correct explanation of A .1
Both A and R are true but R is NOT the correct explanation of A .2
A 1s true but R is false .3

A 1s false but R is true .

I

[Question ID = 6348][Question Description = Q90_S2_qSNz_PG_PER_A]
1. 1 [Option ID = 24582]
2. 2 [Option ID = 24583]
3. 3 [Option ID = 24584]
4. 4 [Option ID = 24585]

Correct Answer :-

e 1 [Option ID = 24582]

1.

Topic:- Persian_RE_B

1)

Read the following passage and answer the Question given below

Ol sl s 5 Coma 3 olsa 5 (s Al 3 (GRau0l DB el g3 e
CSua A% Jlu 3 g saely 3 a8 s Jhy el by Ogom Had )
peld s g by old ) cpall JBla 235 (5 S g il o Ladl 3 g )
2,05 ) Gl P gl ymill Sda oaimid 5 08U e e (el iy
Cuabas S0 L A8 A 93 O3l 5 D8y s Bty o B el gl 5 b
sl 1 gl e g3 S Ll SR il gl afia L)y gl b S U a3
OB aas Mlue 10 Ly 5 Cagy ) 5 25y 33 Gb gy O 3 5 255 o)
S8 b ol ) B s 8B 2 0n dl ) 5 ase Ldl lls

e ) ad WS S lee ot Ghoe Ll cdiag GUIA (A Gl )53 835 95
Koo gl 3 Sl eage ool J) el At 1) a8 3l oy (g el ja QL
o Ol el a auy an Bl o S5 b allad 5 A 5 o) g0l A3EX
iy Aebads 5508 Ol 5 O 3a 55056l 5 sl 5 s diilerge

Cud 5 2 (2 Jslee 1) Boe 00l & pailsa e 1,30 L 5 0l () jualae

iy aldad o
S (€ 51 Hload sk Ol s e

b JA‘ Bl il cale A~

w50 A4 3 (B3l g o
palaa gl il ) Caillae s
sl A JAV Ly jealidal gy soluy

[Question ID = 6349][Question Description = Q91_5S2_qSNz_PG_PER__B]

1



[Option ID = 24586]
2. 2

[Option ID = 24587]
3.3

[Option ID = 24588]
4. 4

[Option ID = 24589]
Correct Answer :-
e 1

[Option ID = 24586]

2) Read the following passage and answer the Question given below

b s Al en 5 a3l 5 e A O GSa) I el ga e S e
S 39 Jla 3 Gaoa el 3 5o S ai jlo sl 5 by g m )
peld (s 5 by ald ) cpall Pla 335 (5 S g i Ll 3 5
2,05 ) Gl P gl prall Sla a5 9 BU e e (el iy
Cualiae BosSo b (AR xia g3 ol 5 S (e B V) ol Ko selsi o a8
sanad 31 gl e g3 S Ll SR ail) gl afa L) gl b S 1 a3
A pasllae 1500 Ll o) Cungny ol 5 aiaddily 3 e ol G O 31 5 255 (&)
SR ey oleld ) S5 s B e 530w O ) s s idl s

pe Jlad S Sl i m Boe el ) cdin g GUIA A Gl Gl A 8355
Koo Ml 3 ASdcage el H el A 1) 253 2l Cowny (g el 0 L
ad el a )y an BLuils o ot allai g A 5 (o) 00l 8K
Oliniy Ale e 558 0l 5 QU1 D 5 Gosek s sophi 5 i dilasge

Gl g (23 (2 Jsbre 1 e 028 S el s Al ad Wiia 5 2l Gl jealas
Cuaily eUnd o

£ S a0 il o oS b 15 e
QUL s Jllae
M‘y‘ a3

sl olallae 4

[Question ID = 6350][Question Description = Q92_S2_qSNz_PG_PER__B]
1.1

[Option ID = 24590]
2.2

[Option ID = 24591]
3.3

[Option ID = 24592]
4. 4

[Option ID = 24593]
Correct Answer :-
e 1

[Option ID = 24590]

3) Read the following passage and answer the Question given below

Ob 5 el on 5 Cuun paalsi g g Al 3 (Sandl S el a3l S e
CRua A% Jlu D3 g pael)y 3 a8 s Ly el iy gom Sl ad )
3ol a5y ol I pall s 035 (s S gy i a3 5y

2,05 0V Gl P gl pmall Sla oaimid 5 0 BU e e (el iy
Cunlias oSGl A& dia g 03l 5y e S0 1) o) S5 e ol 528
sanad 31 gl e g3 S Ll SR ail) gl afa L) gl b S 1 a3
A pasllae 1500 Ll o) Cungy ol 5 aiaddily 3 e ol G O 31 5 25 (&)
SR ey olels ) S5 s 8 ja s 0w o ) s ase idl s
3ol ad S Sl i m Boe el ) cdin g GUA A Gl Gl A 8355
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[Question ID = 6351][Question Description = Q93_S2_qSNz_PG_PER__B]
1.1

[Option ID = 24594]
2.2

[Option ID = 24595]
3.3

[Option ID = 24596]
4. 4

[Option ID = 24597]
Correct Answer :-
° 1

[Option ID = 24594]

4) Read the following passage and answer the Question given below

b 5 el em 5 Cma p3olsa 5 e A O GSandl S el ga e S e
S A9 Jls 3 o sl 3 g a S aia sl aal g by G b )
Dol e 9l yald Sl uall Dl a5 (6 S e i o Ll ) 5
305 S Gaall s (g pil) Sda (pmd KU e 6o oad o iy
Cunliae BosSo b AR xim g3 () 5y 50 e Ko V) o Koo peld of 5 a8
sanald 2V gl e 5 S LA NS Al gl aSa L)) 5l e AS ) G auidls
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[Question ID = 6352][Question Description = Q94_S2_qSNz_PG_PER__B]
1. 1

[Option ID = 24598]
2.2

[Option ID = 24599]
3.3

[Option ID = 24600]
4. 4

[Option ID = 24601]

Correct Answer :-

e 1



[Option ID = 24598]

5) Read the following passage and answer the Question given below

Ob sl gsn 5 Cun pa0lsa 5 (s Al 31 (Za0l DA el es 3 e
GSaua e Jle )3 g sl 52 S e Jha aal 5y g O b )
D2 el a5yl LI ol Bl 235 (o S ) a8 sl ) 5
3,05 2S) Gl s (ol pmill Sl im0 BU e e (b o il
Cuslbine BoSo b a8 xin g3 ol 5 iy e BV, ol L0 seldi g 2
sanad )y ol Lhge g3 S Ll S Al gl afa Ll gl i &S o 1S axidN
OB an llae 15500 L)y o) g ol 5 21adils 3 e Gl G O ) 5 250 )
S8 b glueld ) &) ;f‘_))g Boa 2powd ) s ase il glils
3o )b &S Slee s G ue el )3 edio e QLA Al (158 83 55
S Ol 3 ASdcage e ld ) el A1) a5 2l Couny (g el 0 L
ad Ol el A auy an Buils o 55 b allad g A 5 o) g0l A3EX
i ke ks D08 Gl 5 QU D s sl 5 sk 5 (ol il

s g i) e b B SRR e, diall s Tan 5 M plpedle,
iy aldad o

Cams ) oS el 2ia o (g Ao

)}AY Wi
OS2
o8 laus
osrla 54
[Question ID = 6353][Question Description = Q95_52_qSNz_PG_PER__B]
1.1

[Option ID = 24602]
2.2

[Option ID = 24603]
3.3

[Option ID = 24604]
4. 4

[Option ID = 24605]

Correct Answer :-
° 1
[Option ID = 24602]

Topic:- Persian_RE_C

1) Read the following passage and answer the Question given below
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[Question ID = 6354][Question Description = Q96_5S2_qSNz_PG_PER_C]
1.1

[Option ID = 24606]
2. 2

[Option ID = 24607]
3.3

[Option ID = 24608]
4. 4

[Option ID = 24609]
Correct Answer :-
° 1

[Option ID = 24606]

2) Read the following passage and answer the Question given below
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[Question ID = 6355][Question Description = Q97_S2_qSNz_PG_PER_C]
1. 1

[Option ID = 24610]
2.2

[Option ID = 24611]
3.3

[Option ID = 24612]
4. 4

[Option ID = 24613]
Correct Answer :-
° 1

[Option ID = 24610]

3) Read the following passage and answer the Question given below
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[Question ID = 6356][Question Description = Q98_5S2_qSNz_PG_PER_C]
1.1

[Option ID = 24614]
2.2

[Option ID = 24615]
3.3

[Option ID = 24616]
4. 4

[Option ID = 24617]

Correct Answer :-
e 1

[Option ID = 24614]

4) Read the following passage and answer the Question given below
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[Question ID = 6357][Question Description = Q99_5S2_qSNz_PG_PER_C]
1.1

[Option ID = 24618]
2.2

[Option ID = 24619]
3.3

[Option ID = 24620]
4. 4

[Option ID = 24621]

Correct Answer :-
e 1

[Option ID = 24618]

5) Read the following passage and answer the Question given below
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[Question ID = 6358][Question Description = Q100_S2_qSNz_PG_PER_C]

1.1

[Option ID = 24622]
2.2

[Option ID = 24623]
3.3

[Option ID = 24624]
4. 4

[Option ID = 24625]
Correct Answer :-
e 1

[Option ID = 24622]





